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Niumghsubinh hwupgdwt wpnnmiupuk Lpmndnipinil

Cunhwiunip wljiwply

2015-2016 nrunidtwljut nwpjw wowohtt Jhuwdjulnud 22 hwipulppuljut
nuunidbwlwt hwunwunmpnitiph 11-pp quuwpwbbbpnd wbigugdus wpunwpht
quwhwwndwip qnigpipug wyn puuwpwbiubpnd hwng (Egni U hwbpwhwohy
nuuwywinnn niunighsubph opowtnid wuglhwgytk] E hwupgmd, npht dwubwlygbk; b
wpunwphtt quuwhwwndwt guilnd pungpiws hwbpulppwlub nrundbwlub 66
hwunwwnnipymiutphg  57-mud = hwyng  (kqgnt puwuwdwinnn 220 L 53
hwutnwnmpnittbpnid hwipuwhwshy] nuuwywinnn 180 niunighs (pinhwump pyny
400):

Zupguwl - bygunwlp btk B hwbpwlppufut wjwq  nupngh - dpugpbp
hpwjwbwginn ntuntdbwlwt hwunwunmpnitttph 11-pp puuupuwbtbpniud hwyng (Eqnue
L hwipwhwohy puwuwldwinnn niumghsttph woluwnwiph wpynibwybnniput
niunidbwuhpnipiniip b hwpgdws nrunighsubph Juplnpwé dh pwtth gnpénuubph (hp
wpjuwnnwiphg ntunmigsh pwjwpupywsé (hubkjp, nrunighsubph Ynndhg wowltpnutphg
wljujuywé ghnbihputph dujuppulyp, weupfuyh guuujuindui hwdwp hwnljugdus
owpwpwlwlt dwdwpwtwlp, nwuwpwutbph funnipmniup) U nwunigsh wpuwwnwph
wpnitbwybnnipjut ypu nputg wqnbgnipyut yip hwbnwdp:

Mumgsh hupgupbpphlip juqujws t tnkp 10 hwpghg, npnup ubplujugdus tu
hwytudniu*

Zupgdwt wpyniuputpp SPSS b EXCEL $pwgpujhtt thwpbtputph Yhpundwdp
tupwnlyt kb punhwunip Jhdwjugpujuit b gnpéntwghtt YEpnidnipjui:

1. Cunhwiunmp Jpdwjugpuljub yEpnisnipinih

Zupgdwt  wpymiupubph  pughwinip  Jhdwlugpujut  Jbpnisnipjut Uk
ubpuyugquws Eu  pughwinip  Jhdwugpujut wfjuukp, wdjujukp  pun 22

Jupswnwpwspwihtt Thwynpubph, pun phujuduypiph mhwybtph, pun hwbpulppujut
niuntdttwjutt hwunwwnnipiniiubph mbuwlubph, pun hnuptph b punn puuwpwbtbpnid

unynpnn wowlkpnubph pyh:

Qtwhwndwt b phunuynpdut Eunpnh



Niumghsubinh hwupgdwt wpnnmiupuk Lpmndnipinil

1.1.  Jdhdwljugpulijub punhwimp ndjujukp

Zupguwl 400 Jdwubwlhgubphg 220-p hwyng (kquh niumghsukp &b, 180-p
hwupwhwoyh: Zwng 1kqyh ntunighsubtph 98.2%-p b hwipwhwoyh ntunighsutph 87.2%-np
Juqul) B ubwygp: Zuyng 1kqyh 220 ntunighsubph puuwjunus 11-pn puuwpubpnid,
npnugnid nrunighsubph hwupgdwip gqnigpipug hwyng 1kqhg wughugyt) L wpunwpht
quwhwwnnid, unynpnnubph punhwtnip phyp Juqul) k3239 wowltpun: Zwupwhwoygh 180
niunighsubph puuujuwinus b hwupwhwoyh wpnwphtt gowhwndwtp Jwubwljgus 11-
nn quuwpwughtbph phyp Juqut) k3062 wywltpwn:

Zupgustibph  24.25%-p puuwjuinmd b dwjpupunuph, 75.75%-p  dwpgbph
hwipwlppwlwt ntuntdtwljut hwunwnnipnitbtpnud:

Iunonp puwnupubph hwipwippwlutt hwunwwnnippiutbpnd puuwduunnud k
hupgwé ntunighsutiph 41%-p, Uhohtt punuputph ntuntdtwljut hwunwwnnipniutbpnid
31%-p, thnpp punupbbpmd’ 22.25%-p, gintpnid 4.25%-p, pupdp (kptught ggougbpoud’
1.5%-p: Lpwbg 64.9%-p nuuwjuinmud bt 37 uwjwq nwpngubph, 22.8%-p 13
Jupdwpuibph, 12.3%-p ns whnwlwbh 7 numdbwlwh  hwonwnniegmbibph
puwghunwljwb, hnidwuhwnwp, punhwinip, nunbuwghnulju [t}
dhahjudwptdwnhljuljut hnuptpnid: Udwq nupngubphg hwpgdwip dwubwlgl) b
hupgudbph  72.3%-p, Jupdwpubphg 23.3%-p, ny whnwlwl nundbwlub
hwunuwnmpniuikphg  4.4%-p: Puwghnwlwb hnupnid  npuuunjwinnn  niunghsibpp
Juqunid &t hwupgdusubph 22.8%-p, hmudwbhunwpnid’ 39.5%-p, pughwinmipnd 8.5%-p,
ninbuwghnwluind’ 20.3%-p, $hghjutwphdunhjului hnupnid' 7.9%-p:

Zwyng 1kqyh wpunwphtt gowhwndwt pughwinip dhohtt thwynpp Entky L 6.6, utippht
quuwhunniwi Uhohtip' 6.8, hwiipwhwaoyhlip, hwlwyunwupmbwpwup 4.1 b 6.5:

1.2 dhpnudnipeniu pun 22 Jupswunwpwspuhtt Thwynputph
Upgnuuwl] 1-mid pun 22 Jupswwnwpwspuwjhtt dhwynpubph tbpuyugus Eu

hupgdwt dwutwlhgutph Jepwpbkpu) Jhdwujugpujutt mdjujukp: Uhohtt dhwynpubkph
uyntbwlubpnid  gniwynpws b pighwtmip  dhohtt dhwynphtt qhipwquignn  jud

hwjwuwp vhohtt dhwynpubph Juunuljubpnp:

Qtwhwndwt b phunuynpdut Eunpnh



Niunu

ubnh hwupgdwi w

niipuk

Ungnruwlyy 1. Jhfwjuqpuijut mjjuyukp pun 22 qupswunwupuspughtt Uhwynpukph
Upuwpht ‘Utkppht
wpswnnus -y ghelibph | Upuljbpiniph qhulllhulufllflulh qhulhllﬁlmldulh
puidpwyht wnnljnup wnnlnup d
Whun]npp hohtt | vnwbnupn Uhoht unwiiupn
Upurnpp | gbqouip | dhwnpp | pbknouip
Zuyng 1kqnu
Bplwt 245 26.4 7.0 1.92 6.7 1.85
Ujniuhp 10.4 11.4 6.9 1.74 59 3.05
Chpul 9.1 10.1 7.0 1.94 75 1.49
Lonh 9.1 8.6 6.4 1.71 6.4 1.78
Upuunfhp 9.1 8.9 6.0 2.01 7.0 1.56
Upuqudnint 6.8 5.9 6.4 1.71 63 1.71
Unwnuyp 6.8 7.0 6.5 1.86 7.6 3.68
Qtnuppniithp 6.4 6.6 6.2 2.05 7.3 1.57
Juyng dnp 6.4 46 5.5 2.00 7.3 1.66
Upwpun 59 4.2 54 2.01 6.3 2.32
Surniy 55 6.3 6.8 2.03 6.9 1.75
Cunudbkin 100 100 6.6 1.92 6.8 1.91
Zwipwhwyhy
Bplwl 23.9 23.1 4.8 2.05 6.5 1.79
Chpul 12.8 11.4 46 2.00 7.1 1.65
Updurdhp 10.0 95 40 1.86 6.6 1.72
Unwnuyp 9.4 9.3 4.1 1.81 6.5 1.77
Ujniuhp 8.3 9.8 4.0 1.84 6.0 1.60
Qtnuppniuhp 6.67 8.1 3.4 1.59 6.3 1.75
Upwquénuni 6.67 6.8 3.6 1.61 5.7 1.87
Upwpun 6.1 4.5 3.3 1.48 6.2 1.54
Sunnip 5.56 6.0 3.9 1.57 6.8 1.66
Jwyng dnp 5.56 42 3.8 1.75 6.8 1.57
Lonh 5.0 7.2 4.3 1.92 6.4 1.49
Cunudkin 100 100 4.1 1.86 6.5 1.96
Thwqpud 1

Zumpgumh dwubwlhg mumghsybtph b bipubhg wpwlEpubtph wnlnup pon 22 upsunopospught vhudopbhbph

4.2
p - % Sonjug rubpuigh ruyngibaoy % m .
[64] dmngam [ 5.9 | Upmgumbmat
[ 64] Stqmppmbhp [63] Swmimp
[6.8| Upmqmbmat [ 66 | Yoquppmbhp
e8] omump (70 e
[91 ] Tamp [ 86 | 1tamh
[51] Upimibp [ 89 | Umimife
[93| Chemy 101 | ohpmy
[104 | Umipp e | vmup
[ 245 | tptmh [ 6.4 Ephmb
30 20 10 (1] 0 10 20 30 30 b.i] 10 1] 0 10 20
Nuumghsbbph wnlmm Nrunmghsbiph wnlmm Upmbkmnbitph nnlpmp Upmlkmniibph nnlmp
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Thwuqpud 2

Zumpgumb dumbmljhg mumghsbiinh wapmljEpuinbph
Uhghi vpmijnphbkpp puin 22 mpyunmupmspught Uhodnphbkph
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Upumnphh girmbonmfoat pumnphi givohonm foaf Lkpphi: gimohonme fof Wkpphi gimoh o fmiy
uhghhfhuninpp punhmbmip Whehh upuninpp Rurphmbmip Whehb whuninpp
O fagng kgm0 ... Zonng kqgoa —— Zoyng 1kEgnu —_— — Zungibkgoa
e Smbpmbmspa] 00 s e Znrproahanzhhal —— Zmaproabhao phad —  — Zmbpwmbmzhy]

Unniuwy 1-hg b nhwgpud 1-hg pnwd E, np hwpgdwt dwutwljhg ntunighsubph b
11-pn puuwpwtnd unynpnn tpuig wowkpnutph onipe punnpn dwup Gphwithg b

Zuyng 1kqh wpuwphtt b tkppht quwhwwndwb punhwinip dhohtt dhwynputph
nwupphpnipniip 0.2 E, huly dwpbduinhljughip 2.4:

Zujng thquh U wpuwpht, U Ukppht  quwhwundwb  punhwinip  dheht
dhwynputphg pwpdp tu Chpwyh b Swynioh dwpgqbiphg hwupgdwup dwubwlgus
niunighsubph  wowltkpwnubkph Jhohtt wpmynitpubpp: Gphwth b Umnithph  dwpgh
wowltpnubph dhohutubpp pwpdp Eu dhwjtt wpunwphtt quwhwndwt dhohtt dhwynphg,
huy Updwyhph, Ynwnuwyph b Qhnquppnihph dwpgbph wpwybpunibph dhohtitbpp thwyl
utppht quwhwwndwt dhohtthg:

Zutupwhwodh wpuwphtt b ukpphtt quwhwwndwt punhwtunip dhohtt dhunphg
pupdp dhohtt wipmyniuputpny nupdju wsph Eu pujunud Chpwlh dwpghg hupgdwip
dwutiwjgus nrunighsubinh wowjtpunukpp: Gphwith b Lnnnt dwpgh wowlkpnutph dvhoht
dhwynputipp gipwquiugnid i dhuyt wpunwphtt quwhwndwt punghwinip dheoht
Uhwynpht, huy Updwyhph, Swynioh b dwyng dnph dwipgbph wowlkpinbtphip dhwgi
ukppht quwhwwndwt dhohuht:

Zung 1tkqyh b hwtpwhwrdh wpuwphtt quwhwwnnidhg wdkbtwgusp dhoht
wpynitp  mubkt  hwpgdwup  Upwpwwnh  dwpghg  dwubwlguws  nirunighsubph
wpwltpnubpp:

1.3  dhpnsnipinit pun 22 ptwjuduyptph mhwbtph

Ugniuwy  2-nuid - thpuyugqus  Eu Jhdwjugpujutt wdjujukp  pun 22
puwluduypph  whwbph: Uhohtt  dhwiynpubph uymnitwlubpnid  gnitwydnpws  Gu

Qtwhwndwt b phunuynpdut Eunpnh
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punhwunip dhghtt dhwynphtt ghpwquiugnn Jwd hwjwuwp dhohtt  Jhwynpubphp
Juinulutpp:

Unniuwy) 2. Thdwljugpujut wdjujukp pun 22 puwjuduyptph whybtph

Upwnwpht
Numghysuk Upuljpnik bwhunndwia
Puwlu]uyph nhuyp mnsgllfunph ? mliﬂilnun ok dpgclllh utnwbiuipn
dhunnpp otnnudp
Zuyng 1kqnu
Iungnp puuipubkp 41.8 44.1 6.9 1.882
Uhghti punupubkp 30.5 30.0 6.6 1.871
®npp punupubkp 22.7 21.1 6.2 2.014
Qyninkp 3.6 2.6 5 1.958
Puipdp (Entuyght gninkp 1.4 2.2 5.2 1.872
Cunudkiup 100 100 6.6 1.960
Zwupwhwohy
Iungnp punuipubp 40.0 40.6 4.7 2.019
Uhght: punuplitn 31.7 33.3 4.0 1.790
®npp punupubkp 21.7 21.0 3.7 1.672
Qqnintp 5.0 2.8 3.7 1.613
Puipdp (Entuyght ggninkp 1.6 2.3 2.7 1.250
Cunudkiup 100 100 4.1 1.909

Zupgdwt pninp dwutwlhgutph 41%-p pquuwduiunmd £ jungnp punupttph, 31%-
p Uhohti punuipitiph, 22.25%-p thnpp pumuplbkph, 4.25%-p gminkph b 1.5%-p pupdp
(Entuyghtt gynintph hwtpuwlppuwljut ntuntdbwjut hwunwnnipnibtbpnud:

Thwugpud 3

Zwpguimhb tumbmljhg numghshbph wnnlmup
puw piwwjuypbph whybtph
Zmyngkqm 14 kgt s 116 Zbpoatmgi]
3] amae 5.0
2.7 Fnpp pmymphtp
[ 305 | Upshs poqmpetn
| SR Tmpnp pummphlp
SI[I 4‘0 5] 2‘1] lII] (1] II] 10 20 30 40 50
Nrumghshbph nnlmup Nrunighshkph nnlmup

“Yhwuqpud 4

Zwmpgumb yumbwljhgnmumghshbph mzmbpunbbph
Uhght Whujnphbpp pown pooljunjuypiph npgtph

o 0 zuyngikgm
E =& m=y 6.6
ch
;E ‘2‘ 6.9 [&6‘ 6.2 5 52
2 o Tmpnp Upght Fnpp Qymgkp
g - 1kntmmhhb grigbp
2
: H.E. . = E =
6
13 rmbpohughy
Ch Uhsht
Zunngikgor 0 eeees Zabpmbmzha]
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Niunu

Unmnuuwyy 2-hg b gphwgpud 4-hg tpunwd E, np hwyng (kqyh & hwtpwhwoydh
wnpunwphtt gowhwwndw punhwunip dhohtt thwynpubpht gipuqugnid ku dhuytt jungnp
puwnuputph hwtpwlippwjut nundbtwlut  hwunwwnnippiubbpnid  unynpnnubph
Uhght Uhurynpubpp:

Cunhwinip wndwdp, huyng 1kqyh b hwtipwhwoyh punhwunip dhohtt Uhwynptphg
wljthwjnnpbi gudp b hmnljuybu gniqupbwl wowjtpintph vhohtt dhwynpubpn:

14 dipndnipnit pun hwipuyppuljub niunidbwljub
hwunwunnipnibitph mkuwljutph

Zupgnidt wughugyt) t wdwg nupngubpnud, Jupdupwutbpnd b ny whnwulju
hwipwlippwliwt nruntdbwljut hwunmwnnipmibubipnd quwuwdwunnn niunmghsubph
opowinid:

Upniuwy  3-nud ubpuyugduws ot Jhdwlugpujut wjujutp  pun
hwipwlppwjuwt ntuntdbwlwt hwunwwnnipniutbph wbuwfiubph: Cughwiunip dhohtt
dvhwynphti ghipuquignn jud hwjwuwp dhohtt dhwynpubph qubnuyjubpp gnibwdnpus
ke

Unniuwy 3. Jhfwljugpuljuis wdjuyjukp pun 22 hwtpuljppujut ntundbuljut
hwunwunnipim itbph mbkuwlyukph

Niumdbwlwb Numghsutph Upwljipnutnh Eprmrih gl e
huunuwnnipjui whuwlp wnnljnup wnnljnup Uhohty unwbupun
Upurynpp tnnuip
Zuyng 1kqnu
Udwq nunpng 70.5 71.9 6.4 1.966
Jupdwpub 25.4 25.8 7.2 1.821
Ns whnwljwl ntumdbwlub i1 23 6.9 1.888
huwununnmpmbubp
Cunulkup 100 100 6.6 1.960
Zwupwhuwohy
Udwq nunng 74.4 74.7 3.9 1.823
Jwpdwpub 20.6 22.7 5.0 1.913
Ny yhnwljui numdbwljui 5.0 26 3.8 2193
hwuwnwwnnipniatitp
Cunwudkup 100 100 41 1.909

Qtwhwndwt b phunuynpdut Eunpnh




Niumghsubinh hwupgdwt wpnnmiupuk Lpmndnipinil

Thwuqpud 5

Zmpguwh vumbohhgmumghshbph ninlnop pun hobpulpeoljuob
mumdialpoh hoununmmpmbbEph nEuwlabph

. — R g | X Zmbpumbmph]
254 “Impdmpmb
| 705 Unjmq gmypmg

80 60 40 20 o0 1] 20 40 60 80
Nrumghshbph unlpup Muumghsubph vnlpup
“Thwugpwd 6

Zmpguwh dumbwmljhg mumghshEph wpmljEpuinikph
Uheohh vhunjnphbkpp puwn hmbpmlppaljoi
mum Unnlpnh hmmnunmmpmbbEph tnnbumjhEph

=

Uhghia rhunfnpp
CUMRNDSG SN AMBD
:
I
&
A A
: g_a

-

Zupgws nrunighsubph gbhpwlohn dwup nuuwdwiunnid £ wjwg nupngubpnid
(72.25%): Jupduputitpnid puuwduinnnubpp juqunid Bu hwpgwsutnh 23.25%-p, ny
whnuljwi niuntdiwljwb hwuwnwnni e ikpnd pguuwduinnnubpp 4.5%-p:

Thwgpud 6-hg Gplnwd E, np wpunwphtt quwhwwnnidhg wjwq nupngubph
wowlipmutph hwjwpwé dJhohtt Jhwynpubpp 0.2-wiwt Jdhwynpny gudp Lu
hudwwuwnwupiwt pughwunip dhohtt dhwynphg: dwupdwpwbutph piypnid hujunwy
wuwwnlbkpt k. hwyng 1Eqyh dhohtt vhwynpp wpunwpht quwhwndwb punhwinip dhoht
dhunjnphg pupdp b 0.6-n, hwipwhwodhtp’ 0.9-m]: Ny whwnwlwh hwipulppuljui
niunidbwljutt hwunwunnipnitiuiphg  hwpgdwip dwubwlguws niumghsubph
wowltpnubpp hwyng (kqyhg mubkt wybh pwpdp wnwownhunipmitt (punhwbnip
Uhohtthg 0.3 dhwiynpny pwpdp), pwt hwbpwhwoyhg, nphg tpwiug hwjupws dhoht
dhwynpp punhwunip vhohthg gudp k0.3 thwynpny:

15 dtpnidnipjnit punn hnupbph

Unniuwly 2-mud, npunkn pun hnupbph ubpjuyugdws t hwpgdwb dwutwlhgubph
b tpwbg wowlhbpnubph Ybhpwpbpu) Jhdwugpuljmt wndjujukp, bGpund E, np
niunighsubph qquh dwup puuwjwinmud b hnudwbhwwp hnupnid  (huwyng 1Eqyp
niunighsubph 41.4%-p b hwiupwhwoyh ntunighsutinh 37.2%-n): $hqhjudwpbdunhljuljut
hnupnid nuuwuunnnubtpp juqul) b hupgwsutiph wdbkbwgusp wninlnup (hwyng 1Eqp
niunighsubph 6.8%-p, hmipuwhwoyh ntunighsubkph 8.9%-p):

Qtwhwndwt b phunuynpdut Eunpnh



Niunighstiph hwpgdwt wpgmitpuk Epnidnipnit
Unniuwy 4. Jhfwjugpuljui nydjuyukp pun hnuptph
Upwnwpht guuwhuindwi
Unwp- v Mumghsutph | Upwykpunubtph
Yl unljnup unnlnup Uhohtu unwbimupin
upwynpp 2tnnudp
‘Uonid slju 1.4 0.7 3.3 1.09
_ | Puwghunwlwb 18.6 18.0 6.3 1.82
§a Znuwdwbhwwp 414 43.0 6.6 1.98
> | Cunhwnip 10.4 10.2 6.3 2.11
% Stuwmbumghunului 21.4 22.7 6.9 1.82
N dhqhjudwpbdwnhulju 6.8 5.4 6.7 1.88
Cunuudkin 100 100 6.6 1.960
‘Uonid sju 1.1 1.4 5.9 2.01
i Puwmghunwljui 27.8 16.5 45 1.70
g | Znulwthwnwp 37.2 43.0 3.2 1.36
d | Cuphwhnip 6.1 7.4 4.2 2.29
5 | Shnkuwghunwlul 18.9 25.0 5.3 1.76
2 | $hohulwpbdwnhluluwl 8.9 6.7 5.5 1.98
Cunwdkiup 100 100 4.1 1.909

Unmniuwyy 4-hg Eplnwd E, np dhghjudwpbdunhljujut b wninkuughunwlub
hnuptph wowltkpnutpp hwyng 1kqyh hwiupwhwoyh wpunwphtt guwhwwnnidhg hwjwpty
tt hwdwywunwupwi pughwinip dhohtt dhwynputphtt ghipuquugnn dhohttp: Zuyng
kqUh phwpnid wwpphpmpmiip juqdnd £ 0.1-0.3, hwipwhwolh nhupnid’ 1.2-1.4
dhuwynp: Zwyng 1kqyhg wdbktwgusép dhohtt dhwynputpp hwjupt) tu ptwghnwuljut b
punhwunip hnupbpmid unynpnn wowlbkpunubpp (puphwunip dhohtthg 0.3 dhwynpny
wuljwu), hulj hwbpwhwoyhg hmdwihnwp hnupmd undnpnnubpp (pinhwinip dhehlihg
0.9 dhwynpny ywuljwu):

1.6 dhkpnidnipinib punn puuwpwbikph junnipjut

Zupgws niunighsubinh puuwduwinus puuwpwutbph ppnnipniup hblnwgnudt) |
npun dhowjuyptph (Uhush 5, 6-10, 11-15, 16-20, 21-25, 26 b wykjh wpowljtipwn): Zuyng 1kqyh
niunighsubph nuwuwywinuwé nwuwpwbubph  dhohtt  juunmpmitp  juqdl; EO19,
dupbdwnhluyh  nunighsubph  phypnud® 18 wowlbkpun:  Ywuwpwuubph  Jhoht
hunnipniup hwpduplus L gnunn wowlbpnubph pdh  Jhpupbpu;  tpnidubph
wnlunipyudp hupgupbpphljutpp hwoyh wntbiny:

Thugpud 7-nid  punn quuwpubbbtph pjpnnipjut tkpuyugdws £ hwpgdwb
vwutuljhghiph puuu]winus puuwpuiibph wnlnup, phwugpud 8-nid hwyng (kqh b

Qtwhwndwt b phunuynpdut Eunpnh
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hwtpwhwoyh wpunwphtt gquwhwndwt vhohtt dhwynpubpp:

“Yhwugpud 7
Zmpguwh dumbaljhgmumghshbph

nuunnwirpod numupuibibph nnlpup pon
% nuunupmbh fonmpui
40

Zwyng jqny
i H H

g i = ZEhmhh “1""'""‘1'1'
33
72
111
20
8 739

Zmbpmbmzha] 317

40 -

Yhwgpwid 7-hg Epunud E, np kS winlnu Bu juqunud 11-25 wpowltpwn niukgnn
nuuwpwiubpp (huyng 1kqyh 220 niunighsubph puuwjwinws nuwuwpwuttph 80.3%-p b
hwipwhwoyh 180 ntunighsubph nuuwpwuukph 78.4%-n):

“Thwugpud 8

Uhght vhwynpibpp pun guuupubibbph onmggub

10
ZmyngkEqoy
— — . 6.6
o ]

hiyh 5 610 1115 1620 2125 26 hufih

0
0
B H. HEH. 8. H . E

FoumpmbbEph ownm pym bp

Cunhwmip Uhght dhunjnpn
Zunngikgm 000000 ceees Zmbparhuapha]

6.9

Uhg pia ypunjnpp
%]
o]
w
M

Thwgpud  8-nid huwnwly Eplnwd L, np  Epint wowplugh  ghypnd B
huwdwywwnwupwt punhwunip dhohtt dhwynphg qquihnpkt pupdp Eu dhtglh 10 b 25-hg
wykjh wowlbpnn nmubgnn nuwuwpwbbbtph dhohtt Jhwynpubpp: Uy gniguthoubpp
phunwplynd tt Jupdwpwuibpmd b wjwq nupngubph dh dwund: Cun npod,
wdktwpwupdp dhohtt dhwynp niubt dhtgh 5 wowlbpn niubkgnnubpp (Z2NSZ2 Gnudpnt
dwutwdninh htbwinwhtt Jupdupwi, Yuyph punupuwhtt yupdwpul, «Yniyujjuin»
Jupdwpub, Yuywih phy 2 wjwg nupng):

Thwugpud 9-md 22 Jupswnwpwspuyhtt dhunputph Yupjuspny ubpfuyugdus
tl ntunighsutinh phip b wpunwpht gowhwndwt dhohtt dhwynputpp punn nuuwpwutbph
hawnnipjui:

Qtwhwndwt b phunuynpdut Eunpnh
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“Yhwugpud 9

Zwpguimh vumbwlhghbph gumunjubgpos 11-pn puoopubbbph phdp pon joompuob

o0 15 Jmbpuhmzha
TmumpubbEph jonm ey bp
Oupbsh5 06-10 @M11-15 @16-20 M21-25 W 26hundkh
“Yhwgpud 10
Uhght Upunjnplkpp pun nummupubbbph pnnmpqub
04 Zuyng) tgm.

P an Lo} gongoq__

-t et seiae =2

. -
i = Lo =
. - ! ] ]
) ‘- n e e © e s
I | v.i ui I __

&np Glqmppmbhp Upmpunn Tonh Ymomgp

g

™ et
-

]

n

%ﬁ
3

gh
G}

M
5.0
Fy
1

=i
_ s"_ié-é-:
”

Uhg bz fhunjopp
[-- T~ O S S I — T~ T S I N - -]
|
L)

10 Zmbpuhmzn]
Tuumpmbbibkph onmpym bp Upunmpht gimbuundmb Yheht Whujnpp
Ouhbyh > O06-10 @11-15 @ 16-20 @21-25 E26budbkjh  ..... Zungikgm ... Zmbpuhwm ]

Cuwn 2Z Jupswunwpwspuyghtt dhwynpubph ghunwpynidhg Epind £, np Gplwthg b
Chpwlh dwpqhg hwpgdwip dwubwlgws qpbpt pninp nrunighsubph nuwuwpwbtbpp,
wijuwjn wnwpluyhg b guuwpwih jonnipniihg, wpnwphtt gowhwwnnidhg niukgh)
punhwinip dhghthg pupdp dhohtt wprymitplbp:

Zzujng 1kqyh pughwinip dhghtt dhwynphg qquihnpttu pwpdp Eu Ujnithph,
Qknuppniihph, Lopni, Swniph dwpgbph 21-30 wowlkpn mibkgnn nuuwpubbkph b
duyng dnph dwpgh dhtsh 5 wowlkpn niukgnn Ukl nuuwpwih dhehtt wpmynipubpp:
Zuyng 1kqyh punhwunip dhohtt dhwynphg wyu Jud wyt swhny guwsp b Upwpwwnh b
Upuudhph dwpgbph pun quuwpubitbph nnppub pogap Judpbiph, Gugng dnph dwpgh
10-hg wykjh wowljipn niitgnn nuwuwpwbukph, Upwquénwnuh b Umntuhph dupqtph 11-
15, Lnpnt dwpgh 11-20, Unwnwyph b Upwquoénwnih dwpqbph 20-hg wybkih b Chpwljh dwpgh
25-hg wykjh wowljipwnn nitikgnn nuuwpwuttph dhohtt wpnyniupubpp:

Zutpwhwoyh wpnyniupubpp hhdtwlwind pupdp Eu (Jud hwjwuwn) Upniuhph b
Sunioh dwpqbphg hwpgywsitph dhtsh 15 wpwlhpn nibkgnn quuwpubbbkpnid,

Qtwhwndwt b phunuynpdut Eunpnh
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Upwquénunth, Updwyhph b 9uwyng dnph dwpqtph 16-20, Unwnwyph U Ywng dnph
dupqtph 21-25 wowltpwnn nitkgnn nuuwpwbbbpnud: 25 b wybh wowltpn nitukgnn
nuuwpwitbpnid hwbipwhwoyhg pwpdp dhohtt vhwynpubp Bt wpdwbwqgpyt; Lonnt,
Upduhph U Unwnwyph dwpgbpmd: Cun qpuuwpwbbbph jpnnipjut hwbpwhwoyh
punhwunip dhohhg qquihnpkt guép bt Ghnuppnithph b Upwquénwnuh dwpqbph
wowtipnutph dhohtt wpyniuputpp: Upwpwwnh dwupgnid punhwinip vhohtt Yhwiynphg
0.1-ny pwpéap E dhuyt 11-15 jpnnipjut judph b nuuwpwuh dhohtt Yhwynpp: Uniuhph,
Upwpuwnh b Swniph dwpgbph 15-hg wibjh wowhbpn nilkgnn nuuwpwbibkph
wowltpnubph dhohtt wpmyynitipubpp qquihnpbt qhgonud Gt hwbpwhwoldh punhwunip
Uhohtt hwgnpht:

Bpint wpwpuubphg E 20-hg wydbjh wowlbkpn niubkgnn nuwuwpwbbbpnud
unynpnnubph  gnigupbpws wdbkuwgwép dhohtt  wpmyniupubpp  ghunwpldl;  Bu
wnufbjwybu  gmnbph, dwuwdp k' Uhohtt b thnpp punuplibph  nupngbpoud:
Lunuplikpnud hwbipuhwoyhg wlkiwgusp Uhehtt wpynibipiip mukt wijwg nupngukph
20-hg wykjhwowlpwn niikgnn nwuwpwutbpp:

2.  Zwpgupbpphlh hupgtph Jhdwjugpulju yEpnidnipini

zupgupbpphlh hwupgbph Jhdwjugpuljut yEpnidnipniut winpunununid k 5-
10-py  hwpgpp, pwbh np  1-4-py  hwpgiph  Jipwpbpuyp  Jhdwlugpuljub
wnbnbnipniutbpp qintndus tu «wupgdwt wpyniuputph pughwinip Jhdwjugpujut
Jtpnidnipjniiys pudunud:

2.1 Mumghsutph vwbljujupdwlut vnwdp (hwupg 5-pn)

Zupgdwtt dwutwlhgubph 23.75%-tu nith dhtsh 5 nwupdu dwubjujupdulju

Yhugpuad 11 uinwd, 6.25%-n 6-10, 7.5%-p 11-15, 15.25%-p
16-20, 12.5%-p 21-25, 16.5%-p 26-30, 8.5%n
Tuipgufwab fumirulhgmumghshtph wnlnup . N

% e nblpuruap s mawndh (maph) 31-35, 6.25%-p 36-40, 3.5%-p wykjh pwb 40
o] 264 Zuyng g nwpju unwd: Zuyng 1kqh niumghsubph
N H L, M09 ﬁ* 55 ﬁ; SRS dhoht dwtjwdupduljut wnwdp juqul) k

oo L L L S 2 200, dupbiunnhlunhiip’ 24.4 wuph:
101 s = 75 a3 TYhwgpud 11-mud puwn
o il Twbuupdulul wnwdh thpluyuglus b

hwjng 1Eqyh b hwbpwhwoyh niunmighsutph

Qtwhwndwt b phunuynpdut Eunpnh
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unlnulikpp, nhugpud 12-md’ huyng (kqdh U hwbpwhwoyh wpinwphtt giuthwnnidhg

tpwug wowlkpnutph hwjupws dhohtt Uhwynpubpp:

Yhwgpud 12 “Thwugpud 11-nud pun dwbtljujupdwlub
Uhgbi fm{aplibpg o stumghsibgh unwdh ubkpjuwjugqus Lu hwyng jkqyh b
umblyuiupduljub wnwdh (wmuph) hwipwhwoyh niunmghsubph  wnynubpp,

| Zayng b s nhwqpuu 12-md’ hwuyng 1Eqyp h

hwipwhwoyh  wpunwphtt quwhwwnnidhg

:.m.,s cn s ww we ww ws ww m,-m.,.;.,. upwtg wowlbkpwnutph hwjwpws dhohl

Uhwnpubpp: Yhwgpudubphg tpumd E, np

| niunighsubtph L‘[m‘ullmQulpduﬂlulh unwdh

Usblgunfmpduwlyu smdp (augh) htwn  Yuwws  huyng  jhqyp  Jdhoht
iﬁgﬂ&%ﬁﬂmﬂm dhwynputph twlwt wwppbpnipnit  sh
nhuwpldbtp: Thwgpud 12-hg tplunwd E, np

huyng 1kqyh pughwinip dhohtt Uhwynphtt wmdktwownp ghipuquugnid k (0.3 dhwynpni)

36-40 nwupyw unnwd niukgnn ntunighsubinh wowltpnutph hwjupws dhohtt Thwynpp:
Uhuslh 5 mupju dwtjudupdwljubt uvinwd niukgnnubph wowlpnubkph hwjuwpws

Uhohtt Uhwynpp hwjuwuwnp k puinhwunip dhohpt:

Uyl wunltp b hwipwhwr/h ntumghsubph nypmd: Zwupwhwoyh punhwinip
Uhohtt Uhwynphg pwpdp tu 11-25, 31-35 b wykh pwb 40 mupju dwtjujupdulut
unnwd niukgnn niunighsubph wowljtpunutph dhohtt dhwynpukpp (0.1-1.3 dhwynpny):
Swppbpnipiniut wjthwyn k 11-15 b wykjh put 40 mupdw unwd niubkgnnubph nwpnid

=
=]
'

“’L":T:'"I"m .
8 |
f Ii
-
T
I?

IS
-

5w o
L L

(hwdwyunwupwbwpwp 1.3 U 1.1 dhwgnp): Cuy npmud, hwpgusttphg uinwdh wyy
hudptiph nrunighsubipp 14-u &, npnughg 6 niunighs 11-15 mwpdw unwdny (hwtipwhwoyh
niumghsubph 3.3%-p), 8-p wkjh pwt 40 nwpdu (4.4%-p): 11-15 bt wykh pul 40 mwupyu
uinud nitkgnnbph wowljkpntkpp Uhohtinud hwjwph) ki hwlwyuinuupwiwpup ' 5.4 b
5.2 dhwynp («BJutn» b «dnunnb» Jupdwpwbitp, Gplwuh U. Cwhhyuih wbdub
$hquwpe nupng, Bpiwh phy 94, Yyt phy 2 b Poliwth wyjwq nypngutp):

Zuyng 1kqhg wdktwguédn dhohtt wpyniup (5.7) niukt wykih put 40 mupju utnwd
niikgnn hwpgudtkph wowlkpnbtpp, hwipwhwodhg 6-10 b 26-30 wwpju unwd
niikgnnubkphip (hudwyunuupwiwpup 3.8 b 3.7 thudnp):

Cunn 2Z Jupswnnwpwspuyhtt dhwynpubkph phuwpynudp gnyg b wwihu, np
Bplwthg b Thpwlyh dwpqhg hwpgdwip dwubtwlgusd ntunighstbph nuuwpwibbpnd,
wiwjn wnwpluwihg b ntumgsh dwijwjupdwlwut uinnwdhg, wpuwphtt ghwhwwndw
dvhohtt dhwynpubpp qtpulphn dEdwdwubtnipjudp pwupdp Gu pughwinip Jhoht
Upun|nphg:

Uhtsh 5 nmupju dwujudupduljut uinwd niukgnnutphg pupdp wpnpnibpubp ko
gnigupkipt] Swiynigh, Unwwjph U Upnithph Jwpqbph Awyng jEgi/h niunighsubtph
wowltpnubpp: Fwugh Thpwlyh dwpqhg, dniu dwpgtph (Upwquénwnth, Ynwnwgph,
Updwydhph, Ywyng A&nph, Ujniuhph) 6-15 wwpjw uwnwd niukgnn hwyng (Eqyp

niunighsibiph wowlkpwnubpp wpunwphtt gbwhwwnnivhg hwjwpws dhohtt vhwynpubpny
Qtwhwndwt b phunuynpdut Eunpnh
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qhoniud ki punhwunip dhphttht: Uwpqbpnid 16-20 tnwupyw unnwd niikignn hwpgdusutphg
(Chpwyh, Lnnni, Upwquénwnnth, YUnwnwjph, Swyniph, duyng dnph, Umniuhph dwpqbp)
punhwunip dhghtihtt gbpuquiignn dhohtt Uhwynpubp G hwuwpl] Swynigh, YUnwnwyph b
Ujniuhph ntumighsiiph wpwljkpunubkpp: 21-25 mupjw uinwd niukgnnubph wowlkpunubtpp
qwy wpmnipibp mbkt Lnpmt U Upnibhph dwpgbpnud, 26-30 wwpduip Shpulh,
Uninuyph, Qknuppnitthph, 31-35 wwpjuip Chpwlh, Upwquéninih b Updwyhph
dwupqtpnud: Lnpnt, Upwpwnh, Updwghph, Ynunwgph b Yuyng dnph dwipqtphg hupgdwinp
dwutiuljgusd nrunighsubiph ke sjut 35 nupnig wykjh dwjudupdwuljub uinwd niukgnn
huyng 1kqh niunighsubp: 35-40 wwpw uvwnwdny nrunghsubph  wowlbkpnubph
punhwunip Jdhohthg pwpdp wppymipubp B gmigupbpl] Chpwlh, Upwquénwunth,
Upmnitthph U Swynioh dwpgbpnud:  Zwpgwsubph dbke wylkh pwbt 40 wwpju
duljujupduljui unwd nitkgnn niunighsubp jut dhuyt Gphwihg b @nuppniuhph
dwunpqhg: Lputg wowlkpnutph vhohtt thwynputpp 1.2-1.4-ny gudp Lt punhwunip vhoht
Upun]nphg:

busytu oyt b Jhpltnud, hwpgdwup Gplwuhg b Chpwlh dwpghg dwubtwulgus
qptipt pninp  Awlpwhwoyh niumghsubph wowlbpunbtpt niikt punhwinip Jhohti
dhwynphtt gipwquignn dhohtt wipynitputpn: Ujpyhuhtt Eu twb Ujniuhph, Ynunwgph b
Qtnuppniuthph Jwpqbphg dhskh 5 wwpdu  unwd  nibtbgnn Jwubtwlhgutph
wpwipnubph dhohtt wpyynitipubpp: @Enuppniuhph, Updwyhnph, Yuyng dnph b Uniuhph
dupqtiphg hwpgdwip dwubwlgusutph dte sjub 6-15 nmwupjw uwnwdny hwupwhwoyh
niumghskp: Pupdp dhehtt vhun]npikp nikt Shpwlh b Swdnioh dwpqbph’ 6-15 wapdu
duijujupduljuit uvnwd niubgnnubph wowltpnutpp: Cunhwtnip dhohthg pwpdp
Uhohtt Uhwynpttp b hwdwpl) Chpwlh, Lnpnt, Ynwnwyph, Updwyhph, Umntihph dupgbph
16-20 nupyuw, Ynwnuyph b Umnituhph dwpgtph 21-25 wupyw, Shpwlh, Upuquénunuh b
Updwdhnph dupqtph 26-30 mwupdw, Upuquénunih, SEnuppnithph b Umnittuhph dwpgtph
31-35 mwpyuw, Lnpnt b Upniuhph dwpgqbph 35-40 mwupdw uwnnwd nitkgnny hwupwhwoih
niunighsubph wowljtpnutpp: Thpwlh, Upwgquénunth, Updwghph b YUnwnwyph dwpgtphg
hupgdwip dwutwljgus hwipwhwogh ntunighsutph dbe sjut 35 vnwupnig wykih uwnnwd
niubkgnnutp: 40 nupnig wybkjh unnwdny niunighsubp Jub Gplwithg, Swynioh b Uniuhph
dwupqtphg hwpgusutph dky, npnuughg wnweohti tplniuh wowlbkpunubpp hwpwhwoyh
wpunwphlt quwhwwnmdhg hwdwpl] b pughwinip  dhohtt  Jhwynphtt  1.9-2.9-n4
qipuquignn dhohti Uhwynpubp:

Qtwhwndwt b phunuynpdut Eunpnh
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2.2 Unwpluyh pwuujuindub hwdwp swpupwuljut hwinljugdusd
dudwpwbwlp (hwpg 6-ny)

Gupupulumt puih’ puuwdud b wpudunpimd 11-py  quuwpuimd bp
nuuuwjuinué wrpwpliuyh ntumgdwip: (Swppkp bhnupbpmd quwuwjwunbn
wupwquynid o] mipwpwigmip hnuph nuuwdwdbph pwbwlp)» hwpgp
hwpguptpehlnid 6-pnu k:

Zupgdwt dwuttwhgubph 7.25%-p b L, np puuwjuinmd b owpupwlub 2
nuuwdudny, 18.25%-p 3, 11.25%-p 4, 12.75%-p 5, 8.5%-p 6, 9.25%-n 7, 15.25%- 8,
2.25%-n 9, huly 15.25%-p nplik wyunwupowb sh oky:

Thwgpud 13-mud ubpjuyugdus ki hwpgdwt dwubiwljhg ntunighsubph nnlnuukpp
nun hwnljugdws dudwpwtiwlh:

Lwth np nnwppkp hnuptph hudwp twhwnbtuws dudwpwbwlp mwppkn
htyytu bwb hwupwlippwijwt ntuntdtwljwt hwunwwnnipnibtbpnid nYju] wnwpluygh
owpwpwlwt dudwpwiwlhtt Jupnn £ hwnlwugl] jpugnighy nuwuwdwd, pun wynd
hupgh ywuwwnwupiwbubpnid phunwplyt) E2-9 dwd:

Yhwugpud 13 “Yhwgpwd 13-hg Eplunud E, np huyng
o T P e e e e 1Eqnt  quuwywtnnnubph 58.6%-n ok k 4-7
. b oo gafuds dho oo

3 zu,..glz:.. . y 919 .‘:F" ]{fm{.uhwth I}luuuldlilll,[, hulhpm%lulth nuuwywunnnukph
E ss ] = (I -2 28.9%-n 3, 27.2%-n 8: Cwpwpwlul 3 duuny
: — & hubpuhuwohy nuuwwinngitph ghpulohn
3 :: E ’ =,5:8 dwup guuwjuingmd £ hnwdwihunwp
'ﬂ% 27 (] > | 2> hnupnid: Cwpwpwlwut 8 dwd uywd
'é’ w;iml—: l.f;.; .é e niunighstbkpp hwipwhwohy Ll
" » w oo o » 50 nuuwywtnnid nbinbuwghnwljul,

M ghybiph wnlmop Nuumaghybiph wnlnup
puwghinwlwt b Phpghfjudupbdunhljulju

Thwgpud 14 hnuptpnid:

Uheht Uhunjophbpp pou huwaljuog]ul dunfupobml b r}hmmphhpq db?hh dhmt{nphhph
P ——— wuwulbpp (nhwugpud 14) uljuwnnwd Gup, np

PR TS PP P T T TT PP 6.6
14 H H N H o H H puhwbnip uhght uhunjnphg
E o T S S S S A wnwpphpnipiniubpp ujuwnkh Eu
_%j hwupwhwoyh pbuypnud:  Zwyng  kqyhg
. wdbkuwpwupdp  dhohtt  dhwynp  niukb
i st T pupwpwlul 3 dwin] nuuwywinnnibph

wasiphts vt bt thal

g s v (7.7%)  wpwljtpintitpp, npnbg - gpulphe

dwup unynpnid £ hnidwthnnwp hnupnud:
Cunhwnip dhohtihg 0.4-2 dhwynpny pupdp L owpupwlui 5, 8 b 9 nuuwdudny
hwipwhwohy nruntdbwuhpnn wowlbpnubph dhohtt dhwynpubpp: Cwpwpwlut 5

Qtwhwndwt b phunuynpdut Eunpnh
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nuuwdwuny nruntdbwuhpnnubpp wpwybjuybu puwghwnwlwt hnuphg Eu (ut twb
ninkuwghinwlui, $hquwup b pinhwinip hnupbkphg), 8 b 9 dunini niuntdbwuhpnnubpp’
nunbuwghnulju (bub puwughnufu b $hquupe hnuptnhg):

Cunwhwinip dhohtt dhwynphg 0.4-1 dhwynpny guép bu owpwpwluit 2-4, 6 b 7
nuuwdwuny hwiupwhwohy niumdtwuhpnn wowlbpnubtph dhehtt dhwynpubpp: 2-4
nuuwdudn] nmunidbwuppnnibpt wpwdbjuybu hmdwbhunwp hnuphg i, dnuulkpp
puwghinnwlut b bhquup hnupbphg: 2-4 nwuwdwiuny hwipwhwohy nwuwjuwbnnn
niunighsubpp (hwbpwhwoyh nrumghsubph  28.9%-p L  twJwd dwdwpwbwlyny
nuuwywinnnutph 71.2%-p), nquuujuwinnid tu swpwpwlut 3 puuwdwdny b, hsyku
oyt E Jhplunud, gqipulohr dbdwdwutnipjudp woppwwnnid it hnmidwuhwnwp hnuph
wpwlkpwnubph htw:

Zupgdwtt  dwutwlhg hwng (kqyh nrumghsubph 41.4%-p b hwbpwhwoyh
niunighsubph 37.2%-p nwuwjwunnid tu hnidwthwnwp hnupnud: ftwghnwljwt hnupnid
nuuwywinnny hwyng (kqyh nwunighsubph  34.1-wjut  wnlnup guuujuwinmd  k
owpwpwlwl 2 b 4 dudny, hntdwithnwp hnupmd puuwuunnnutph 34.1%-n" 7 dudny,
punhwinip  hnupmd  puuwywunnnubph  30.4%-p U winbuwghnwlwt  hnupnid
nuuwjwinnnutph 31.9%-p° 5 dwdny, dhqhjudwptdwnhjuljut  hnupnid
nuuwywunnnutnh 33.3%-p' 7 duudny:

Puwghunwlwt hnuph hwipwhwoyh niumghsitiph 42%-p puuwdwinmd
owpwpwluwl 5 dudny, hnmidwuhwnwp hnupnid npuuwywunnnubph 70.1%-p° 3 dwuny,
punhwunip hnupnid nwuwwunnnutph 45.5%-p' 4 dwdny, nunkuughunwlwt hnupnid
nuuwywinnnubph 67.6%-p b $hqhjudwptdwnhjuljut hnupmd nwuwdwunnnubph
62.5%-p" 7 dudny:

Zwng 1kqyh wpunwpht quwhwwnnidhg ptwghnwut b punhwunip hnupbpnid
unynpnn  wowlkpunutph hwjwpws udhohtt dhwynputpp hhdtwlwind gwédp G
punhwunip dhohtt thwynphg (6.6-hg): dtpohthg qquihnptt pupdp k punhwtnip hnupnid
nuuwywinnnutph  wowlbkpwnutph  dhohtt  dhuwynpp  (8.2): Ujn  nrunmighsubpp
npuuuwjuinnud kb owpwpwluit 4 dwdny: Znmdwthwnwp hnupnid punhwunip dhoht
dhwynphti gipuquignid tu swpwpwuljub 2-4 dudny npuuwjwunnnubtph wowlkpunubkph
dvhohtt dhwynpubpp: Fpwighg wdbbwpwpdpp swpwpujut 4 dwdny nuuwywinnn
niunighsubph (hwpgwé hwyng (tqyh nrunighsubph 11.8%-p) wowlkpunttph dhoht
dhwynpt k (7.0): Cunhwtnip dhohtt Uhwynphg pupdp kb twlb munbuwghnwljut hnupnid
owpwpwlul 3-6 dwdny b dhqhjudwptdwnhljuljut hnupnid 2, 4 1 5 dwdny hwyng 1kqnt
nuuwywinnnubph wowlkpnubph dhohtt Uhwynpubpp (6.7-7.5): Cughwunip  hwoyny
hwyng 1kqyh punhwnip dhohtt Uhwynphg 0.1 fud 0.2 dhwynpny pwpdp kb swpwpuljui
3, 4 i 6 dwuny nuuwywunnn ntunighsiph wowykpintph dhohtt dhwynpubtpnp:

Zumupwhwodh wpuwphtt guwhwwnidhg hnidwihwnwp hnupnid  unynpnnubtph
hwJuwpws udhohtt dvhwynpubpp punhwinip dhohtt Jhwdnphg (4.1) gwép tu 0.8-1.3
dvhwynpny: Cunhwunip dhohtt dhwynphti 0.4-1.5 dhwynpny qghipuquignid tu punphwinip
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hnupnid dhuwju swpwpwlui 4 b 5 dudny npuuwjwunnn niunighsubiph wowltpunubkph
hwwpwé dhohtt Jdhwynpubpp: Cunhwbnip dhohuhtt 1.1-2.9-nd gqhpuquignmd Gtu
ntnbtuwghnujut b bhghjudwptdwnhjuljut  hnuptpnid nuwuwdwunnnubkph
wowltpnubph Jhohtt Jhwinpubpp: Ujp hnupbpnid swpwpwlut 8 b 9 dudny
dupbdwnhlju puuuduiunnnutph wowlkpunubph dhohtt thwynpukpp 5.2-7 Gu:
Cunhwiunip wodwdp hwbpwhwoyh punhwinip dhohtt Yhwynphg pwpdp dheoht
dhwynputp nitbkt owpwpwlui 5, 8 U 9 dwdny nwuwjwbnnn niunmghsubkph
wowltpnubpp (bhghjudwptdwnhjulut, mbtnbuwghnwljul, punhwunip hnupkp):

23 11-py nuuwpwind unynpnnubph ntudw dwljuppuyh
thnthnjunipjnitin bwunpy mupdw hwdtdwnmpjudp (hwpg 7-pn)

<Lujunpy nupju hudbdunmppundp hiswkv £ ol 11-py quuwpuimid
unynpnnibph  mudwi  dwiwpnulpy hwpgh  htwpudnp  wuwunwuppwbibp o b
«Pujuiutht pupbjuty b, «Phy £ pupbjudbp, «h qopedbp,  <Ufugqlp B
«Puduljuuht pupbjuyyt) b wunwupwtbh punpky £ pojnp hwpggwsubtph 29%-p, «Rhs &
pupbuybp gunwupowmbp' 48.25%-p, «2h thnjudbp yunwuewbp 15.75%-p, <Gluqgb) b
wunnwupiubp 2.75%-p, huly 4.25%-p nplk wunwupowb sh oky:

Upniuwy] 5-nid punn wnwpluubph tbhpujugus tu hwpgupbtpphyh 7-pn
hwipghtt hwyng 1kqyh b hwtipwhwoyh ntumighsiiph njws yuwnwuppwuubph Jepupbpyug
Jhdwlugpuljwt ndjujukp b tpwig wowlkpnubph hwjwpws dhohtt dhwynpukpp:
Anitwynpws kb punphwunip dhohtthg pupdn dhohtt vhwynpubtph Juunulutpp:

Unniuwy 5
Lurjunpr nup]w hundbfunnni pyundp hsugku b thnjuty
11-py quuwpwiunmd unynpnniikph nrudwh dwljwppuljp
Unup- Niunighskph Uowlkpuitkph
Yl Munnwupratp unnljnup Uhohtt thunnpukpp
Nuwunwujuwlt slju 3.2 6.1
b= Pujuljutht pupbjwddly E 35.9 6.8
S, | 2hs E pupbun]yty 45.0 6.5
g 2h thnjuydly 12.7 6.4
B | Wwgh k 3.2 6.3
Cunwdkup 100 6.6
- NMuunwupiub shw 5.6 4.3
< | Pujuljutiht pupbjuyyk) k 20.6 49
2 | £hs b pupbjuyty 52.2 4.2
2 | 2h thnjuyly 19.4 3.5
:% Ljwughy k 2.2 4.1
Cunwudkup 100 41
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busybtu tplnwd | wnpmniuwl 4-hg, np tplint wnwpluitph phypnid ) wdkbwdbs
pYny nrunighsubpp ok Gu «Rhy E pupbjudytp wquunwupowup: Uy wenudnyd Bplipnpn
nbnnud £ «Puduljuihtt pupbjuddl] b gquunwupowbp, tppoppnud £ «Qh thnjudbp b
snppnpnmud. «LJugl] b quwnwupowp:

Gpint wowpuyh phwypnid E  «Puduluuht pupbjuddt] b ygunwuuwth
punpwsubph wowltpnutph Jdhohtt dhwynpubpp pwpdp Eo hwdwyuwunwupwt
wnwpluyh pughwinip  Jhohtt Jhwiynphg b phkplu wdbbwpwpdpt G: Noudwb
duljupnulp pupbjuduws hwdwpbnt tquqduip qnigpiipug tjugnid kb hwyng 1kqyhg
wowltpnutph hwjwpws dhohtt dhwynpubpp: Uyn dhwnnwdp thnpp-hty juwpaongnud k
hwupwhwoyh pblwpnud. «Qh thnpybp wwunwupwmbt pbnpwsttph  wowlbpnubpp
hwuwpl] tu wdbkuwmgwép dhohtt dhwynpp (3.5), hull «Ljwuql] b wwnwupwbh
punpwsubphup hwjwuwp £ hwiupwhwyh pughwinip dhohtt thwynpht (4.1):

Zuyng Eqi/h niumghsutph 35.9%-p Wb b «Pwulwtht  pupbjuddl; b
wunwupuwbp, 45%-p «Rhs b pupbjuyybp, 12.7%-p «h thojudbp, 3.2%-p «<Gjwugh] b,
hull 3.2%-p wwwunwupwt sh upk;: Ftwghnwlwt hnupmid nuuwjwunnnutphg 7-py
hwpghtt Wunwupiwbws popnp niumghsibph wowljbpinibph wpuwphtt guhwnnudhg
hujwpws dvhohtt hwynpubpp guwsp tu punhwinip dhohtt thwynphg: Fnjnp hnuptpnid
(pugh ptwghunwlwihg) «Pujuuihtt pwpbjuddl; b wguwunwupwiup tywsubph
wowltpnutnh dhohtt dhwynputpp pwpdp i hwyng jkqh wpuwphtt quuhwwndwut
punhwunip dhohtt dhwynphg: Cuny npnud, pnpowthbih pupdnp b dphghjudwpbdwnpjuljut
hnuph wowltpwmutph dhohtt dhwynpp (7.6): «Rhs L pupbjuydbp wwnwupwbh
punpwsubph nhwypnd pwpdp Lu (0.3-ny) punhwinip b mbnbuwghnwlwiu hnuptpnid
nuuwjwinnnutph wowkpnubph dhohtt dhwynpubpp: Cunhwtnip dhghthg guép G
ptwghnwfub b punhwtnip hnuptpnmd puuwwunnnutphg «2h thnpbp uunwuppwtt
puwnpwsubph wowltpwnubph dhohtt dhwynpubpp: Nudwbt dwljuppuljh thnthnjunipnii
sujunnws niunighsubph npypnid pupdp dhohtt dhwynpubpny nwpdjumy wsph b puljunid
$hqhudwptdunhjuljui hnupp («dnunnt» Jupduput, dhohtt Uhwnpp 8.2): «Ljuwqky b»
wuwunwupwiul  punpuwsubphg punhwinip b wbnbuwghnwlwt  hnupbpnid
nuuujwinnnubph wowlkpnibph dhohtt dhwynplbpp (hwdwywnwuwbwpup 7.4 b
6.8) pwpdp Lu punhwtnip dhohtt dhwynphg: Uy wwwnwuppwtbh pnpwsd nrtunighsubpp
Bplwth, Umithph b Ywyng 4&nph  dwpgbph  hwbpwlppulwt  niuntdbwlub
hwuwnwwnnipjniiitphg Lu:

Zwhpwhwo/h niunighsubtph 20.6%-p hwdwpnud L, np nmudwbt dwluppuyp
puuwljuitht pupbyundty b 52.2%-h fupshpny wyl phs b pupbjuyyby, 19.4%-h Jupshpny
sh thnpudt], 2.2%-h Juwpshpny ujwqb) E hull 5.6%-p npblk wwunwupiwt sh uoky:
znidwthinwup  hnupnid  quuwjuwinnnutphg 7-py hwpghtt ywunwupwbws  pojnp
niunighsibph wowlikpunubpp wpunwphtt gqowhwwnnidhg hwjwpl) kb punhwinip dhohtihg
gudp dhohtt dhwynpubp: «Puduiuht pupbjuddt] b b «Rhs b pupbjuddbp

Qtwhwndwt b phunuynpdut Eunpnh
18



Niumghsubinh hwupgdwt wpnnmiupuk Lpmndnipinil

yuunwupwuibptt pbwnpwsubphg dhuyt hmdwuhwnwp hnupnid  nuwuwywiunnnubph
wowtpnubpt tu punhwinip vhohtt hwynphg guwsnp dhehtt dhwynputp hwjuwpky, huy
nunbtuwghnuljutt b Ppghjudwpbdunhljuljutt  hnuptph  wowltpnutph Jhoht
dhwynpubpp Wuwnbihnpkt pupdp Gu (4.4-5.7): «Qh thnpudbp yunwupiwbt ptvnpusubph
nhypnid punhwtnip dhohtt dhwynphtt ghipmquugnid Gt dhuytt nbtnbuwghnwljwi b
dhahjudwptdwnhljuljut  hnuptpnid  puwuwjwunnnutph  wowlbkpnutph  Jdhoht
dpunjnplbpp (5.3-6.1 dpunp  «dnunby b «Ruiny  Jupdwpwbibp, dwiwdnph
ywhnwut dwtjujupdwulut hwdwjuwpwih hbbwlbnwhtt Jupdwpwb, Updwdhph
phy 4, Gplwth phy 43 U Qwjwurh wjwqg nupngubp): «Lwql] b Wuuuupwbt
punpwsubphg dhuyt phwghnwlut b nmbtnbuwghnwliwt hnuptpnmd puuwdwinnn
niunighsubph wpowlbtpwnubph dhohtt dhwiynpubptu bt ghpuquignid punhwinip dhoht
Uhunphl (hwdwyunwupwbwpup' 5.1 1 5.7): Uyy wuinwupwi pinpus niunighsiibpp
npuuwjuinnid kbt dwypwpwnuph, Lnnpmt b dwyng dnph dwpgbph hwbpulppulut

niuntdbwljut hwunwwnnipniutbpnud:

24 Lwjwgnyb wpnniuph hwutbint hwdwp wljulwynn jpugnighs
nuuwdwdbnh pmwtwlp (hwpg 8-pr)

Luugnylt  wpymiph  hwubikne  hwdwp  pugmghs pwbh’  puuwdunth
wuhpwdtownnipinit tp qgnud» hwupgh wuwunwupwutbph YEpnidnipniihg tptnwd E, np
poinp hwupgduwsubph 62%-p jpugnighs nuuwdwdh wybjugdwt wuhpwdbonnipni sh
nkulinud, 5.75%-p quninid k, np guljuh £ Ukl nuuwdudng wfbjugnidp, 22%-p' 2, 5%-p
3,5.25%-p 4 b w]kjh puuwdundni:

Unniuwl 6-nid punn wnwpluwukph tkpjuyugdusé tu 8-py hwipght huwyng 1kqyh b
hwipwhwoyh nrumghsttph wnjwéd wwwnwupwbtbph Jepwpbkpu; Jhdwljugpuljub
njujubp b wpunwphtt quuwhwwnnmdhg tpwbg wowlbpnubph hwupws dhoht
dhwynpubpp:  Gnibwynpwé Eu pughwtnip dhohthg pwpdp dhohtt dhwinpubph
Junulutpp:

Unniuwl 6
UYyuywyynn jpugnighy dulwpubwyp
Unup- Uljuljuny Munighsubkph Uowljkpunkpp
Yl dwubph phdp wnlnup Uhght vhurjnplikpp
0 61.4 6.6
b 1 10.0 6.3
o'
=, 2 18.2 6.9
=Y 3 4.1 6.4
3 4 L wkih 6.3 6.1
Clqukup 100 6.6
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. 0 62.78 48
= 1 0.55 5.1
3 2 26.67 49
g 3 6.1 3.5
3 41 wlyh 3.9 2.8
| cuqunibip 100 41

Unniuwy 6-hg tpinud E, np Epynt wnwpluitph ntumghsubpt b didwdwuwdp
pugnighs nuuwdwdh wybjugdwt wihpudbpnnipnitt skt mbkutnd: Zuyng 1Eqdh
niunighsubph 38.6%-p b hwiupwhwoyh ntunighsiiph 37.2%-p swpwpwlwut hwnljugdwus
nuuwdwdbph wybjugdwt Yuphp niukt (hpdbwlwiunid 2 dwdny): Zwyng (kqyp
nuuuwyjuindut hwdwp jpugnighs nwuwdwd wjtuwnnutph 47.1%-h b hwtipwhwoyh
nhupnid 71%-h hudwp gubluh £ 2 dudn wbjugnup: Cun npowd, bpubighg huyng
1kqyh  nrunmighsubpp  hhdtwlwinid puwuwdwinmd i hnidwbhunnwp hnupmid,
hwipwhwohip nnkuwghinulub b phughunwlub hnupbpnud:

Lpwgnighs nuuwdwdbph wthpudbownnipnit mbkutnn huyng jEqifh niunighsutiph
wpwtpnubph dhohtt dhwynpubpp hhdtwjwinid gwsén Eu punhwunip vhohtt dhwynphg
(6.6-hg): Uju niumghsutiphg dhuy 10%-h wowlbkpwmubkph uJhohtt dhwynpubptt tu
punhwunip dhohtt dhwynphg pwpdp, pun npnud, qquihnpkt pupdp E tpwtghg 10-h
wowtipunutnh dhohtt Yhwynpp (7.4): Uju ntunighsttpp, npnup puuwjuinmd Bt Gplhwth
phy 2, Quwwih ph 2 b phy 9, Tunuppuywwnh phy 5 wijwug nupngutpnud b Swyph
punupuwjhlt yupdwpwinwd, tok] G, np puuuduinnmd bu swpupwlut 7 puuwdwdny, b
np guuluwih k bu 2 quuwdwdny wybjugnidp: Zuyng 1kqyhg pupdp wnwewnhunipintl
gnigupbpws upwig pnnp wowlkpnubpp unynpnid Bt hnwdwthwnwp hnupnid:

Zwhpwhwoth wpunwphtt quwhwundwt  dhohtt dhwynphg pwpdp dhohtukp
phunwplynd bt wnwdbjuytu swpwpuljut 5 b wykh yuuwdudny nuuwduinny b
1pugnighs nuwuwdwdh wthpwdbownnipnit  sinbkuting  nrunighsubph  wowltpunubkph
opowunid:  Lpwgnighs npuwuwdwdbph wbhpwdbonnipnit  wkubng  niunmighsubph
wpwtpnubph dhohtt dhwynpubpp hhdtwljuwinid gwsénp Eu pughwunip dhohtt dhuwynphg
(4.1-hg): Uju niumghsutphg dhuyt 3%-h wowlbpwnutph Jhohtt dhwynpubptt &b
punhwunip vhohtt thwynphg pupdp, pung npnud, tywbwuh pupdp L aiputghg dhuyu 4-h
wowltpnutph dhohtt wpmyniupp: Uju nrumghstubpp puuwuunmd Eu Gplwth U.
Cwhhywtuh wijuwl dhghjudwpbtdwnhjuljut  hwwnnll] nwpngnd, «Gypuuhw
dvhowqquyhtt  hwdwjuwpwt» ny wWhunwlwh  bhwbpulppuljut nruntdbwlwb
hwunwunnmipniind,  nudpnt 2NS2 dwubwgninh hktwknuwhtt b «dnunnb»
Jupdwpwutbpnud: Lpwip ok B, np nuuwdwinnid kb owpwpwljut 8 nuuwdudny
(Uhuyt «Gpuwupw vhpwgquuhtt hwdwjuwpwih» hnidwihnwp hnupnd' 2 dwdng), b u
ipugnighs bu 1 Jud 2 nwuwdwdh wihpwdbynnipnit: Fupdp wpwownhunipinil
gnigupbkpwé upwug wowltpwnubkpp unynpnid tu hnidwthwnwp,
dPhahjudwptdunhluljut b nbntuughunwlwt hnuptpnid:
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Zunjugqus  puuwdwdbph  wydbjugdwt  Juphp sniubgnnubphg  dhuygh
Uwjpwpwnwph, Thpwlh, Swniph b Ujnmiuhph dwpqbph huyng jéqyh niunighstbph
wowtpnubpt Eu wpunwupht quwhwwnnidhg hwupk) punphwunip vhohhtt gbpuquiugnn
Uhoht Uhwnplbp, jpugnighs 1 dwd whbluwnnubphg dhugt Shpwyh, Ynwnuyph b
Upithph dwpqbphtp, 2 dwd wlbywinnukphg” Chpwyh, Ujniuhph, Stnwppnithpp,
Upwquénnth dwpgqbphtip b Gplwthup: Bpyniuhg wybih npuwuwdwdh wybkjugnid
wljujwnn nwunighsubph wowlkpnubpp hhdtwlwinud hwjuwpty b punhwunip dhohihg
gudn dvhohtt dhwynpubp: Fugunnipinit b juqunid dwyjpupwnuph, Lnnnt, Updwydhph,
QLnuppniuhph b Ywyng dnph dupqbphg hwpgws dh puth ntunighsubph wpwljkpunubkpp:

zmnjugus puuwdwudtpt | wdbjugubint  withpudbynmpnin smbubing
hwbpuhwoyh niunighsubinhg vhuytt Upwpunh b dwyng dnph dwpqbph ntunighsutph
wowltpnubpt Bt wpunwphtt quwhwwnnidhg gnigupkpl] punhwinip dhohtt dhwynphg
guédn Uhohtt wpnyniptp: Lpugnighs 1 jud 2 dud wjtjuwinnutpp Gphwithg, Ynwnwgph,
Chpwlh b Upwqwénnuh dwupqtphg B fugh yipohthg, dniu Epkp Jupswnwupuspughe
dhwynpubph ntunighsubph wowlpnubpt niukh pupdp dhohtt thwynpukp:

Lpwgnighs 2 dwd wluuwnn niunighsubph dbé dwup nuwuwduinnmd Lk
hnudwihunwp hnupnid. huyng (kqh nhupnid’ poynp 2 dud whiljunnubkph 75%-p (ipuiiip
Juqunid Gt hnidwtthnnwp hnupnid nuuwwunnnutph 33%-pn), hwupwhwolyh nhypnid®
89.8%-n (hnidwuhwnwp hnupnid nuwuwqwunnnubtph 65.7%-p): Gplyniuhg wydbjh dwd
wljuju)nn nrunighsutp fut pojnp Jupswnnwpwuspuhtt Uhwynputinhg, pun npnud, tputg
wowtpnubtpp hhdtwwunid gnigupbpl) ku punhwunip vhohhg qqujhnptu gusp dvhohte
wpryniupubp:

25 «Qppwin’y kp hwdudhwn wnnpl iygws dnpkph htwns (hwipg 9-pn)

9.1) Uphmwwnwupdp pujuwpup k:

9.2) Ugtuwwnwipp hkwwppppp kb nwpupnggpe:

9.3) Unynpnnutph b sunnutiph htwn hwpwpbpnipniuttpp juy Eu:

9.4) Tuypngp pwdupwpnid L unynpnnutph b tpuig sunnutph Yppuljut
wwhwbebpp:

91  Uppnuwnmujupdp puyjwpuwp E Zupgdwt pnnp dwubwlhgubph 3.25%-p
wohunu]updp  dhwbquiduyt pujupup b ohwdwpmd, 13.5%-p qpbph  padupup,
19.75%-p owwn phs £ hwdwdhwn wyn dwnph hbtwn, 62.5%-p pninpnyhtt hwdwdhwn sk, 1%-p
nplk wwwnwujuwt sh toby:

Unniuwl] 7-nid punn wpwplutbph ukpuyugdwsé tu 9.1 hwpghtt hwyng 1kqyh b
hwtipwhwoyh nrumghstbph wjwd wwunwuppwbubph JEpwpbpuy Jhdwljugpuljui
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njujubkp b tpuwtg wowlbkpnubph hwjwpws dhohtt dhwynpbpp: Snitwynpws bu
punhwinip dhghthg pupdp dhohtt dhwnnpltiph Juimwljubpp:

Unyniuwy 7
Upjuwunwupdp pujupun k
G [ sy | Pemabtinh | dostipatint

NMuwwnwuhiwub shu 1.4 7.0
gﬂ' Uhwbquuuwgt hwdwdhwn B 2.7 6.3
A, | Opbpk hwdwdhw B 12.3 6.9
& | Gww phy bl hwduhun 19.5 6.4
2 | Popnpnyht hunfundhwn sk 64.1 6.6
Cunulkip 100 6.6
_ NMuwwunwupiwb sju 0.6 4.4
= | Uhwbquuuyt hwdwdhwn b 3.9 3.8
2 | apbipk hwdwdhun &d 15.0 44
f‘% Cunn phs kU hudwdhun 20.0 40
3 Pninpnyhtt hwdwdhw skd 60.6 4.2
Cunulkip 100 41

Unmniuwlyy 7-hg tpunud E, np nmiumghstiph qbhpwlohn dwup hwdwdhwn sk
«Upwwnwupdp pwwpup b» dwph hbwne Upwniwphtt  quwhwwnnidhg  tpwitg
wowtpnutph hwjwpwsé dhghtt dhwynpubtptt wykjh pupdp Eu, pwt wyn dwnph hbwn
«hwtiquuuyt  hwdwdhw»  niumghsubtphup:  dbpohuutph  wowlbpwnutph  Jhoht
Uhunnplbpt wikwgudpt ku (hwyng (kquhg 6.3, hwlipuhwoyhg 3.8): Gplynt wnwpljughg
E wdbuwpwpdp dhohtt dhwynp Et hwduwpl] «9phptk hwdwdhwn btd» ygunwupwbh
plnpusitiph wowlkpunbtpp (hwyng (kqhg 6.9, hwipwhwolhg' 4.4):

Usjuiwnnwdupdp dhwiquuuytt pajupup hwdwpnn huyng 1kqgh nrunighsubpp
Bplwihg, Thpwlh b Ynwnwjph dwpqbphg G dbEpohtt Epyniuh nhwypnid wpwlkpinubph
Uhoht dhwynputpp gusdp tu pughwunip dhohtt thwynphg: Cunphwinip wndwdp, wijuju
9.1 dnph yEpwplpu) tyws wuunwupiwhg, punhwiunip dhohthg pupdp E vhuyt Gphwh
niunighsubph wowlkpnubph dhohtt dhwynpp: «Ennpnghtt hwdwdhwn skd» qquunwuppwup
towsutiphg dwjpwpwnuph, Chpwlh, Upwquénwnuh b Uniuhph dwpqbph ntunighsubph
wowlbpnubptt Bt hwng jkqyh wpuwphtt quuhwwnnidhg pupdp dhohtt dhwiynpbp
hwduwpky:

Usjuwnwjupdp dhwiquuuwytt pujupup hwdwpnn hwiupwhwoyh nrunighsubpp
Chpwlyh, Updwyhph b Gninwjph dwpqtphg G Shpuyh U Updwdhph dwpqbph wyy
niunighsubph wowlkpnubph vhohtt dhwynpubpp pupdp kb punhwtnip dhohtt dhwydnphg:
«Pnnpnyhtt hwdwdhwn  shd» wwunwupuwtt punpwsttphg  pughwunip  dhohtht
qtipuquignn dhohtt dhwynpubp niukt Gplhwh, Chpwlh, Unituhph, Updwyhph, Ynwnwjph
i Yuyng dnph dwpgbphg hwpgdwsubph wowlkpntpp:
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9.2  Uppnumwnwbpp  hbkwnmwppphp F b wwpwpbnyp: Zwpgdwt  pnop
dwuttwlhgutinh 57.75%-t hp wohowwnwipp vhwiquudwytt hEnmwppphp b mwpwpunyp &
hwdwpnid, 36.5%-p gptpt hwdwdhwn E wn dnph htwn, 4%-p owwn phy £ hwdwdhun:
«Pnnpnyptt hwdwdhwn  skd» wuwuwuppwbp ng-np sh pbwpk, hull 1.75%--p nplk
wuwwnwupwl sh uoky:

Unniuwl] 8-nid punn wnwplutph ukpuyugdwsé tu 9.2 hwpghtt hwyng 1kqh b
hwiupwhwoyh nrumghsttph wnjwéd wwunwupwbtbph Jepwpbkpu; Jhdwjugpuljui
njujubp b tpwbg puuwduinus wpwlbpnubph hwjwpws dhohtt dhwynpubpp:
Anitwynpws kb punhwunip dhohtthg pupdnp dhohtt dhwynpubph Juunulutpp:

Unniuwl 8
Uswwnwpp hkwnmwppphp kb mupwpling e
Unwnp- Mumghsutph Uswljtpuinitpp
Yt B wnynup | hohts dhuninppp
. NMuunwupuwb shw 1.8 5.2
§- Uhwiquiuyt hududhn b 62.3 6.5
o | 9pkpt hudwdhwn kU 31.8 6.9
& | cwwn phy b hunfunfun 41 6.0
| Cgunlkip 100 6.6
= NMuunwupuwb shw 1.7 3.5
‘E,?’ Uhwbquuuyt hwdwdhwn B 52.2 4.2
"S Apbpt hwdwdhwn & 42.2 4.2
5 | cwwn phs kd hwdwdhwn 3.9 44
'3 Cunudtup 100 41

Unniuwy] 8-hg tplunwd E, np YEpnhhoju dnph htwn «@pkptk hwdwdhwn» huyng
(kqh numghsibph wowlbpnikpp hwdupl] i wdkbwpupdp dhehtt thunjnpp 6.9:
Zutpwhwoyhg wdktwpwpdp dvhohtt wpnniup niukb wyn dnnph htin «Gwwn phs hwdwdhwu»
niumghsubph wowlkpunubpp 4.4:

«Uhutquuwyt hwdwdhwn Ed» quunuwupwip bywsutphg dhuyt Gplwth, Chpuwlyh
b Unithph dwpgbph ntumghsuitiph wowljbtpunubpt nmutu pughwinip dhohtthg pupdp
dvhohtt wpmynitptbp: Uju wuwunwupwbt ptnpws ntumghsuipp nuuwduwunnd G
hnidwthwnwp, punhwnip, puwghwnwljul, ninbuwghnulub i}
dhqhjudwptdunhjuljut hnupbpmd: «@pbpt hwdwdhn tl» yuunwupwbwstphg
dvhuyt Gtnuppnithph (punhwinip b phwghnnwjutn hnupkp), Updwihph (hnidwtthwnwnp,
puwghinwlwl, nbntuughnwlwut b bhghjudwpbdwnhjuljut hnuptp) b Yuyng dnph
(hnidwhunnwp, ptwghnwlut b punhwinip hnupbp) nrunighsubptt muku punhwunip
Uhohtht ghgnn dhghtt Uhujnplibp:

Cunhwunip dhohthg pwpdp dhohtt dhwynpubp niukt dwjpwpwnuph, Thpwlh,
Lnnni, Upwpwnh b Unwnwyph dwpqtphg «Uhwbquduyt hwdwdhn Bl qquunuupwit
puunpws niunighsubph wowlkpunubpp: Gphwihg b Chpwlh dwpghg hupgwsubkphg wyu
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wunwupiwbl  punpustbpp quuwjuwinmd kb pnnp hnupkpmd, Lnom dwpghg
hnulwbhnwp, phughnwluwb b $hghudwpbdunhjului, Upwpwwnh dwpghg
plwghnwljwb, Ynwnuyph dwpghg hmdwbhunwp, phughnwlui b winbuughnuljui
hnuptpmud: «@phpt hwdwdhwn tl» yuunwupwbwsubphg Gplwih, Chpwlh, Umniuhph,
Updwyhph b Ynwnwjph dwpqbiph ntumghsttph wpwlbpwnubpp, npntp unynpmd G
hhdtwlwutnid hnidwthwnup, puwughunwljul, nunbuwghnulju 61
dhahjudwptdwnhljuljut  hnupbpnd, niubkt pughwtinip dhohthg pwpdp  dhoht

dhwynpukbp:

93  Unynpnpbkph b Sanpakph hkwnn hwpwpkpnipmnibbkpp ju Eb: Zwupgdw
dwubiwlhgubph 73.25%-p dhwbquuuj hwdwdhwn £ tpgws dinph hbwn, 23.75%-p qplpk
hwdwudhwn t, 1.75%-n owan phy £ hwdwdhwn, 0.5%-p pninpnyhtt hwdwdhw sk, 0.75%-p nplik
wuwwnwupiwt sh uoky:

Unpnuuuy] 9-mud ubpiuyugdus tu 9.3 hwpghtt hwyng (kqyh b hwbpwhwoydh
niunighsubph wnjwéd wwunwupiwbtph JEpupbpu)  Jpdwjugpujut ndjujubp b
wpuwphtt quwhwwnnidhg tpwtg wowlbpnutph hwjwpws dhehtt dhwynpukpp:
Anitwynpws kb punhwunip dhohtthg pupdn dhohtt dhwynpubph Juunuljutpp:

Unniumy 9

Unynpnnubpp b $unnutph htn hwpwpkpnipiniuubpp juy Eu

Unwp- Mumghsutph | Uowljtpunikph vhoht
Yl Munnwupratp nnlnup Uhuwnptpp

NMuwwunwupuiwb sju 0.9 5.1

b= Uhwiquuw;t hwdwdhwn bl 75.5 6.6

S | apbpk hwdwdhwn bd 21.4 6.5

_8_"3 Cwn phs U hwdwuhwn 14 6.1

3 Pninpnyhtt hwdwdhw skd 0.9 7.5

Cunuudkup 100 6.6

= NMuwunwujuwb shw 0.6 3.4

(,E‘? Uhwiquuw)t hwdwdhwn bl 70.6 4.1

-5 Apbpt hwdwdhwn b 26.7 4.2

5 | Guu phy td hwdwuhwn 2.2 5.2

& | cuguutp 100 41

Unniuwyy 9-hg tplinud £, np Epljnt wnwpljuyh niwypnud £ ntunighsutiph qhpulohn
dwup hwdwpnid E, np wowlbpmubph b sunnukph htwn hwpwpbpnipmibatbpp juyd b
«Pnnpnyhtt hwdwdhwn skd» yuunwupiwbt ptnpk) E hwyng kqgh ntunighsutph 0.9%--p,
huj hwipwhwoyh niunighsitphg ng-np wyn wwwnwuppwup sh puwnpkp Zung 1kqyhg
wdbkuwpwpdp dhohtt dhwynpp (7.5) hwywplk; &t hkug wju wwunwuppwit plhnpws
niunighsubph wowlkpnubpp: Zwupwhwoyh pughwiunip dhoht dhwynphg pupdp tu
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«GQplpt hwdwdhwn td» b «Cwn phy b hwdwdhwny wwunwuppwth punpwsubph
wowlkpunikph hunjwpws Uhohtt vhun]npitpp (hudwwyunwujubupup’ 4.2 1 5.2):

94 ‘hypngp pwyjupupmd Fouminpnnpbiph b Gpubg Stnnhkph Gppulub
wwhwiphkpp: Zupgdwt dwubtwfhgutph 62%-p vhwiquuuw)t hwdwdhwn E tpgws dwnnph
htwn, 27.75%-n qpbpt hwdwdhwn E 5.75%-p owwn phs £ hwdwdhwn, 1.5%-p pnjnpndht
hwdwdhwn sk: Npbk yunwupwi sh ok hwpgusutnh 3%-p:

Upmniuwy 10-nmud ubpjuyugdws tu 9.4 hwpghtt hwyng (kqh b hwupwhwodh
niunighsubph mjwsd wquunwupwutbph Jepuwpkpu; Jhdujugpuljui mdjujutp b tpuig
wowltpnubph hwjupwsé dhohtt dhwynpubpp: Gnibwdnpws b punhwinip dhohtihg
pupdp dhohti Uhwynpubiph qugulubpp:

Unniuwy 10
Ywnngp pajupupnid £ wpwykpnbkph b $unnukph
Ynpuljui yuhwhgbpp
Unwp- NMiumghsubtph Uowljtpuinittpp
Jul Munnwupratp unljnup Uhohti thunjnpukipp
NMuunwujuwlb shu 3.6 6.0
5_. Uhwiquuuwjtt hudwdhwn & 60 6.6
= | Gplipk hwdwdhwn B 27.3 6.6
& | Guwn phy kU hwdwdhwn 6.8 6.5
:?; Pninpnydhtt hwdwdhwn shd 2.3 6.6
Cunuudkup 100 6.6
NMuunwujuwlb shw 2.2 3.9
=
= Uhwbquuw)t hwdwdhwn bl 64.4 4.1
2 | apbpb hwdwdhun b 28.3 44
f‘% Cwwn phs kU hudwilhin 44 35
3 Pninpnyhtt hwdwdhw skd 0.6 4.2
Cununlkip 100 41

Unniuwyy 10-hg tplintd £, np hwdwdhwn htuknt wunhdwth tuquutnp qnigpiipug
Wjugnid E twb nwunighsttph wnlnup: Zwyng 1kqyhg hwjwpws dhohtt dhwynpubkpp
wnwybjuytu hwjwuwp tu punhwinip dhohtt thwynpht, hull hwupwhwoygh dhohuubpp
Ukbwdwuwdp pupdp Eu (fud hwjwuwp): Uhuyt «Cwn phy U hwdwdhn» yquunuuowbt
puwnpwsubph wowlkpnubpt Et hwipwhwoyhg gudp vhohtt thwynp hwjwpky:

«rypngp pwdwpupnud £ wowlbpnubph b sunnubph Yppulut yuwhwuetbpp»
dwnph htin dhwiquiudw)t hwdwdhwn ntunighsubphg dhuyt Thpwlyh, Swyniph dwpgpnud
b Bplwbunid hupgdws niunighsubph wowipnutph vhohtt dhwynpubpt Eu gbpuquugnid
npunhwunip dhohtt hwynpht: Uy ntunighsitipp puuujuinnd Bt hblnwgnunnipjut dke
pungpiyws pnnp hnupbpmid: Cunhwinip dhghtt dhwynphg pwpdp B twb «Qpbph
hwdwdhn bl» yuunwupwbt pnpwsubphg Chpwlh b Umnithph dwpqbphg hwpgdus
niunighsubph  wowltpwnutph Jdhghtt wpnitpubpp:  «Bnpnpndht hwdwdhn k>
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yuwnwupwiws ntunmghsuipp Gphwihg, Chpwyh b 9wyng dnph dwpqtphg Lu: Gphwbgh
niunighsubph  wowlbpunubpp unynpnud  Eu hnudwthwnwp  hnupmd b wpunwpht
quwhwwnniudhg gnigupbpt] b pughwtnip dhohtt dhwynphg pupdp dhohtt wipnitp:
Chpwlh dwpqhg «Fnnpnyhtt hwdwdhwn skid» yuunwuppwit pbnpwsd nrunighsttpp
nuuwyuinnud ki munbuwghnujut b Phghjudwpbdunhljujui hnupbpnud, Jwyng
anph dwpghg phwghnwlwb hnupnmd: Zwjng (kqlh wpunwphtl guwhwnndhg bpwig
wowipnutph hwjupws u vhohtt Uhwynpubipp gusdp tu puinhwunip dhohtt Uhwynphg:

«Uhwiquuuytt hwdwdhn btl» wguwunwupwbt punpwsttphg Thpwlyh, Lnnn,
Ujniuhph, Upwpwunh, 9uyng dnph dwpqbphg b Gphwthg hwpgusubph wowlkpinttph
Upght Upun]nplbpp pupdp tb pinhwing dhohtt vhunjnphg: Bpliwtihg bt Thpwlh dwpghg
«Uhwiquuuwit  hwdwdhn  tl»  wywunwupwbt pbnpwsubpp quuwdwiunnud  Bu
htinwgnunwd  ponp hnupbpmud,  Upitthph  dwpghg  popnp hnupbkpnud,  pugh
hnulwihwnwphg, duyng dnph twpghg hwpglusibpp hnudwihnwp, phughnwlui b
ninkuwghnwlui, Upupuwnh dupghg hupgjusibpp hnwdwbhunwp b phughinuljui
hnupbpnid: Fupdp kb twb Chpwyh (hntdwthwnwp, ptughnwljub, nbnbuwghnwljut b
dhahjudwptdwnhljuljmt hnupkp), Updwdhph (phwghnuljui b ntnbkuwghnwlub),
Ununuyph (nutntuwghnuwljui b hghjudwptdunhljului), Yuyng dnph (hnitdwhwnwp
U plnhwinip) dwpgtphg b Gplwbhg (poinp hnupbpp, pugh ptwghinwluhg) «Ipbphk
hwdwdhwn Ed» yunwuppwt ptnpws ntunighsubiph wowlkpnutph dhohtt dhwynpubpn:
«Gunn phy B hwdwdhwn» wyuwunwupwut punpwsutphg dhuytt Umnithph dwpgh
niunighsubph  wowlkpwnutpt o pupdp dhohtt  wppymitputp  gnmigupbply
(nbnbuwghnwljub b $hghijudwptdwnhjulwut hnupbp):

26 «Ujuunuwpju 11-pnpuuupuind unynpnnubpp twjunpn niumdbwljut
nwpnud wpnupugpt | Bu Qkp wljuljuhpukpp»
(hwipg 10-pn)

Uju hwupgh htwpunp yuunwupiwbtbpt b’ «hdtwuwind wppupugpty G,
«Uwuwdp &b wpnupugpbp, «Qkh jupnnuglk] wppupugubp, «FJuputnd G
wuunwupiwbbp: Zupgdwt pnjnp dwubwlhgubph 21.75%-p hwdwpnd E, np bwjunpy
niunidtwlutt mupmd wowlbpnubpp hhdbwjuinid wpnupwugpt] G niunighsubph
wljujuhputipp, 69.25%-h Jupshpny dwuwdp Et wpnwpugpk), 3.5%-h Jupshpny sku
wpupugpk], hull 3.5%-p nddupugk] B wwnwuppwb;: Zupgusutph 2%-p nplk
wuwwnwupwb sh uoky:

Unmniuwy 11-md ubpuyugdws i 10-pn hwipghtt hwyng (kqyh b hwtpwhwoygh
niunighsubph mjwsd wunwupwbtbph Jepuwpkpu; Jhdwjugpuljub mdjujubp b tpuig
wowjipunubpnh hwjwpwsé vhohtt Uhwdnpubpp:
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Anitwynpws kb punhwunip dhghtthg pupdnp dhohtt dhwynpubph Jquunulutpp:

Unniuwy 11
Uju nupyu 11-pn nuuwpwimd unynpnnukpp twhinpn
ntunuliuljwh nupmy wppupugpt’ b Qbp whbiljughplkpp
Unup- Niunighsukph Uowljkpnukipp
Yl Munnurhuatp wnynup | uhoht uhurdnpiikpp

NMuunwupuiwb shw 1.8 7.3

é Zhdtuwinud wpnpupwgply ku 25.5 7.0

B, | Uwuwdp kb wpnupugply 65.0 6.5

g 2kl Jupnnughk] wpqupuguby 2.7 5.9

3 TdJupuinud Bl yuwnwupwby 5.0 6.0
Cunwukiup 100 6.6
NMuwunwujuut siju 2.2 4.4

% Zhdtuwinid wpnwupwgply ku 17.2 5.0

E Uwuwdp ki wppupugpty 74.4 4.1

a Okl jupnnugh] wpnupuguby 4.4 3.4

~'§ Ydjupuinud bl yunwuiwly 1.7 2.9

| cugudtip 100 41

Unniuwy 11-hg tpunud E, np hwyng 1Eqyh nrunighsubph 65%-p b hwtipwhwoyh
niunighsubph 74.4%-p hwdwpnid G, np wpwlkpunubpp dwuwdp Bu wpnuwpugpk) hptug
wluljuhpubpp:

Uluuhputph wppupugdutt  wunhdwitht hwdwdhn  (hulnt  wuqiuin
qnigpiipug tjwgnud ki twb dhohtt Jhwynpubpp: Udbkbwpwpdp dhohtt dhwynpubp Gu
hwduwpl] «hdtwljwinid wpnwpwugpl] Eo» wwunwupwbt pbnpws niunighsubph
wowljkpunikpp (huyng 1kqhg 7, hwipwhwolhg' 5):

«pdtwjunid wppuwpugpt Bo» gquunwupiwit punpusutphg vhuyt Upupunp,
Updwyhph b 9wng dnph ntumighsubiph wowlkpunubph dhohtt dhwynpubpt Eu qhonid
punhwunip dhohtht: Cun npnud, Upwpwwnh dwpgh nunighsubpp puuwduinnud tu
hmuwihinwp U phphwimp  hnupbpnid,  huly  Updwdhphip U dwyng  &nphip
puwghunwlwuinud: «kt jupnnugl] wpnupugubpy yunwuppwbt pnpusd ntunighstubpp
Ujniuhph, Updwyhph, 9uyng dnph, Ynnuwyph dwupqtphg b Gplwbhg Eu: Lpwbg pninph
wowljipnubph dhohtt dhwynpubpp qhonid tu punhwunip dhohtt dhwynphti: Unihph
dwupgnud niumighstiph wljujuhpubpp swppupugpuws wowlbkpnubpp unynpnud L
ntnbuwghnwlui b $hqhudwpbdunhjuljwb  hnupkpmd, Ynwnwgph  dwpgoud
hnudwihnwpnid, Bphwitnwd, Updudhph b duyng dnph dwpghpnid pwghinwljui
hnupbpnid:

«hpdtmuinid  wpnuwpugpl] B wgwunwupwtt | pbnpws hwtipwhwogh
niunighsubph wowlkpnubphg dhuytt @nuppniuhph (hnidwthnwp b ntnkuwghnwljub
hnuptp) b YUnunwyph (hntdwthwnwp b ptwghnwlwt hnupbp) dwpgqbpnid Bt punhwtnip
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Uhohtihg gudp dhohtt dhwynp hwwpk): «9ku jupnnughk] wppupugubpy ygunwupwubh
pbunpwéd nrunghsubpp Lopnt (hnidwhwwp  hnup), Umnitthph (hnidwthunwp b
puwghunwlwt hnuptp), Updwihph (nunbtuwghunwlwt hnup) dwupqtphg b, b tpuig

poinph wowlkpunubkph dhohtt vhwynpubpp gwén kb punhwunip dhohtt vhwynphg:

3. dpnidnipintt punn hwpgyws ntumghstibph jupunpws b tputg
wpjuwnwiph wpynitbwybnnipjut ypw wqnnn gnpdnuubnph

3.1 Qnpénubitph Ytpndnipjut knipyniup

Qnpénuutph Jbpmisnipjutt Uhgngn huwpuynp b JEp hwul] ghuwplynn
thnthnuwljuutbph dholt wnlw qéwjhtt Jhdwjugpuljmt  Ynpljjughwutph  hwdwp
yuunwupwbwnnt «swunju)» thnthnpuwlutbpn:

Qnpénuutph JEpmnidnipniup puquuswth b pw oqunipjudp nhunwplnidubph
htwn juuyws wnju dkdwphy thnthnjpwlwtutpp pipynud Gt wykjh thnppuphy wtuu
thnthnpwlwbttph, npnup Ynsgymd Gu gopdnbékp: Cun npnud, jmipupwbsnip gnpént
dhuynpnid £ Jhdjuyg htkn juhun thnpjuyuwlgws thnhnpwlwbubpp: Suppbp
gnpénuttipnid dhwynpywd thnthnfuwjuutbpp Uhujutg htwn PO
thnjujuyulguénipnit b niukunid:

Ujuyhuny  gnpéntkph Yhppnsmpul tgunwl b wjiyhuh hodwlupg]us
gnpénuutph  JEphwunidp, npntip wpwdb]  (hwpdbpnpbit  jpugunpbkt wnlju
thnhnpuwljuitikph dhgb ghunwplpynn juwybpp:

3.2 Zupgdwl dwutwmlhg ntunighsubph juplnpws gnpénuukpp

Nirunigsh hwpguptpehlh hwpgtpp tupupyyt) Eu gnpéntiuyhtt yhpnisnipyut, nph
hhdwt Jpw h huywnm Gtu Gy 4 gopénuubp, npnup hhdtwlwinud wudhowljuu
phunwpldudp skt Eplnud, vwljuyt wyju jud wytt swhny Jupbnpynd o hwpgdws
niunighsubph Ynnuhg b mgnnid Eu ntunigsh wpuwnwtiph wpmynitbwdnnipjub ypu:

@ Unwohli gnpénih htwn  ubpunpkt  Juuyyws Eu 5-pyp hwpgp
(«Uwjujupduljui unwdp») b 9-pn hupgh 1-ht («<Upjuwnwyupdp pudupunp b»), 3-py
(«Unynpnnubkph b dunnubtph hbkwn hwpwpbpnipmibubpp qwy ) b 4-pn («Fypngp
puduwpupnid £ unynpnnubph b bpwbg  Sunnubph  Yppwlwbt  wwhwbeubpp»)
tupwhwpgtpp, npnup phplu punipwugpnud bu hp wpprwmwiphg niunigsh puupnupyusd
1hakp:

Qtwhwndwt b phunuynpdut Eunpnh
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@ Epipnpn  gopénih  htn  Juwdws Eu  7-pp (<Lwjunpnp  wwpdu
hwdbdwnmpulp hiswkv b njudl] 11-py puuwpwind undnpnnbph nuudwb

dujupnpulpr) b 10-pgp hwpgtipp («Uju vnupu 11-pp quuwpwinid  unynpnnubpp
twfunpn nuuntdtwlwt nwpnd wppupugpt’| B 2p whilywihpltpps), 9-pn hupgh 2-py
kupwhwpgp («Upumwnwtpp hkwnwppphp £ b tnwpwpinype»), npnip jupnn &b punipwugpty
wowltpnubphg ntumgsh wluuwws ghwnbhputph pighwtinip  dwiwupnulp: Uju
gnpénup hwdwnnwn wiwubup «wfbljuyhpllips:

® Eppnpn gnpénlh Ak ubpunnpbu juwws tu 3-p hwipgh 2-pn Bupwhwpgp
(«Znupp»), 6-n («Spudwnpyus swpwpwlut yuuudwdbph phyp») b 8-ny («Ululjuynn
Ipwugnighs nwuwdwdtph phyp») hwpgbpp, npnup punipwgpnid G puwnn hnupbph
npudunpus pwpupwlut dadwpwuwlh Juplbnpnipiniup: Gppnpn gnpénup hwdwnnn
wijwubtp «dwwpuwbiul»:

@ nppnpn  gnpénbp utpluyugdws b 2-pp hwipgny («Qbp nuuwjutnus
wpwpljub») b 3-pn hwpgh 3-py Bupwhwpgm] («Upwlkpuntbtph phip»), npnup dhwuht
Jupnn G punipwgpl; wpwpluyh  gquwuwduiundut wppnibwdbnnippub
JwhiJuénipniup nuuwpwunid unynpnn wowlkpnubkph pdhg: 2nppnpn  gopénut
winjwibkbp «quuwpuwbbbph prnnipin b

dhpohti qnpénith htwn Jwuyws hhoklp, np puuupwinud unnpnn wowljkpnikph
phyp 20-hg wytkjht (huknt nhypnid huyng 1Eqyh nwuwdwdht puuwpwip pudwiynid k
2 fadph:

Ujuyhuny, ytpp tpdwsd 4 gnpdnuubpt b

1) wpprunwiliphg punjupupywé (hakp,
2) wlhljuyhphkpp,

3) dwdwpwinulp,

4) pwuwpwbbbph fnnipnap:

dhpndnipjniup htwpwynpnipinit £ wnwjhu qunnnnipniubp wiuknt hupgdws
niunighsubph wojpwwnwiph wppynitwybnnipjut Jpu wyju jud wyt swthny wqnnn b
upwtg Ynnuhg Jupbnpwéd wyu gnpénuubph Jupbnpmipyuitt wunhwh dwuhb, npp
nuuwlupgty khbnbyu) Yipy «Gupinpmpynih sh npynidy, «@ngp Juplinp]usntpntis,
«Uhohtt juplnpdwénipiniiy, «luhun jupbnpjuwénipiniis:

Unniuwy) 12-mud pun Jupbnpjwbnipjut wmunhdwh thpuyugus b hwpgdus
niunighsubph Ynnuhg Jupunpywsé gnpénuubpp: Cunhwinip dhohtt dhwynphtt hwjwuwp
Jwd gbpwquugnn vhohtt thwynpubph Jutnuljutpp gnitwynpws tu:
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Unniuwl) 12, Zwupgyws ntumghsukph Ynndhg jupbnpynn hhdtwwb gnpénuttpp pun jupinpmpjui wunhdwih

Zwyng |kqm Zwupwhu
Qnpéntih Ing 16q puthuiphy
Qnpbni lnpjwus u
npénlp Yuplnpjudnipjw Nuunghstibph Uguljbpintkp Ovumghstibph Uguljbpuntitp
wunhgwip
unlnup i uUhohtu wnuimumn wnnljnup i uhohtt unuinmpn
Uhwnpp 2tnnuinp Upujnpp | oknnuip
Quiplnpnipinit sh tpynid 241 25.3 6.5 2.047 26.1 259 3.9 1.717
uﬂ“‘“‘“‘“hphg ©ny) Juplnpjusnipnth 23.6 30.3 6.7 1.891 21.1 18.2 4.4 1.889
) Pmuéiipmpqm Uhght Ywplnpdwsnipyntt 259 219 | 65 2.020 295 306 | 43 1.974
hun juplunpjusdnipnil 26.4 225 6.5 1.880 23.3 253 4.1 1.994
Cunwukiup 100 100 6.6 1.960 100 100 4.1 1.909
YQuplbnpnipinil sh tpynud 30.9 30.7 6.6 1.952 17.8 13.6 49 2.175
fn1] yuphnpJwsnipnil 26.4 253 6.8 1.932 23.3 23.1 4.1 1.906
UUUihRUERE T Guplinpubnipynt 23.6 23 | 65 1.965 26.7 282 | 42 1.810
2 hohtt juuplbnpyuénipnt . . . . . . . .
uhuwn Juplunpjwsdnipinil 19.1 21.7 6.3 1.961 32.2 35.1 3.9 1.800
Cunukip 100 100 6.6 1.960 100 100 41 1.909
YQuplbnpnipinil sh tpynud 19.1 18.6 6.4 2.005 32.2 31.7 3.3 1.508
fn1) yuplhnpjudnipnil 28.2 30.1 6.8 1.881 21.1 22.1 4.0 1.801
dudwpwbwlp
3 Uhoht jupunpjudnipmnil 26.8 24.4 6.2 1.910 22.8 19.3 43 1.955
vhun Juplnpwsnipjnih 259 26.9 6.9 1.986 23.9 26.9 5.2 1.852
Cunukp 100 100 6.6 1.960 100 100 41 1.909
YQuplnpnipini sh npynud 45.0 54.5 6.4 1.977 0.6 1.6 27 1.062
Twuwpwittph | ©ny) jupbnpjwsnipnit 39.6 35.0 6.7 1.937 7.2 145 4.2 1.856
4 Juwnnipniip Uhgohtt juplunpywénipiniu 13.6 8.6 6.8 1.835 38.9 425 4.2 1.946
Ivhun Juplnpwsdnipinih 1.8 1.9 7.0 2.143 53.3 41.4 4.2 1.892
Cunudkip 100 100 6.6 1.960 100 100 4.1 1.909
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Thwgpud  15-nud thpjuyugus  u hwpgwsd  nrumighsttph  Juplnpws
qnpénbiikpp punn Juplnpoipjut wunh&wbh, nhugpud 16-md’ wyy niunghsibph
wowltpnutnh dhohtt wpmyniupubpp puwn tnyu gnpéntubph: S8nipwpwbynip gnpénth
Jupbnpmipjut wunhdwiht hwdwywnwupwt tbkpjuyugdws £ twb wyt jupbnpus
niunighsubph mnynup:

TYhwqpud 15

Zmpguwh dwubmlhg mumghshbkph jupbnpud gnpdnbbkpp
pun ophnpm pymb wmnhd&mbh

Uzlmonnmbphg pajupmmjmd (hukp 24.1 | 23.6
E Uyljuyhphkpp 30.9 | 26.4
E‘ E dulmpubmlp 19.1 | 28.2
£ Juumpubbkph fnnpzmiip 5.0 |
3
E
‘E % Uzlmunnmbphg punjupumjmis thukp 26.1 | 21.1
i : Wyblubpbtpn | 178 | 233 |
‘§| dudmpmbmlyp 32.2 | 21.1
E TPruumpmbbkph ounm gy bp |7_2| 38.9
o 50 100 150 200
NMiunighsukph nnlnup
Qaopdnuh jophnpjmdm pjwh wonhAmbp
0 Yuphnpmpimb 3h wnpfnod O Uhght jmplomjudo eym i
0 Fmy jmplomjuém gymb B puwn jmplonmjmém pymb
Thwugpud 16
Uhght Yhunjnphbpp puin mum ghsbbph jumplhonpmd gnpdnbhbkph
10
8 | Zungikqm
6 e das s s s s asaea TRt sesesena . san 66000 s um
E o \I—
Uzhrmummbphg Fmumpmbbkph
\-E o | Eml pijms (hbkp  SHEgwkpRERR Cunimpmbmbp hoam pro b
20 NE jl— = H t"t jr
224 o | = || [ | [=F]|=F il| =
Q 4 Pl . Plelalerceaanns = ] S [
6
8 4 Zmbpmbuorzin]
10

Qnpémuh juphnpjmsn pjuwh wmnhswhp L S—
1 Ymphnpmpymb sh wpdood Uhght Upmmjnpp
1 Fmy jmphnpjmdm pym b
= Uhpht jmpbnpjmbmpmh
N vhmn mpbmpodm pyn b

Unmnuuwyy 12-hg b phwgpud 15-hg tplnwd E, np wpwohtt kpynt gnpénuubph
Jupbnpmipjut wmunhdwup huwyng 1Eqyph b hwipwhwoyh ntumghsutph nbypmd qpkpt
unyt Jupgh L, hull 3-py b 4-pny gnpénttbph phypmid Juwb npnowlh nwppkpnipniutbp,
npnbip wykjh guwpnnit ki wpinwhwynduws 4-pn gqnpénth quuwpubbbph unnipjui
ntupnid:

Tuuwpubbbph fonnippui gnpdnup hwyng (kqyh b hwbupwhwoyh niunighsubpp
vhwiquuuwytt wmwuppkp swthny B jupbopnid: Yhwgpud 15-mud hunnwly Gpmud B, np
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hwyng 1Eqyh nrunighsubiph 45%-p wyn gnpénup sh fupbnpnid, 39.6%-p phs £ juplnpnid,
13.6%-n uplunpnid £ dhohtt swithny, b vhuyt 1.8%-u £ jphuwn Juplnpnid:

Zuljwpwl ywwnltpt £ hwipwhwodh ntunighsubph ghypnud: Lpwtg 53.3%-p juhun
Jupbnpmud £ nuuwpwitbph junnipjut gnpéntp, 38.9%-np juplnpmd E dhohtt swthny,
7.2%-n phs E uplunpnud, b dhuyu 0.6%-n sh Juplnpnud:

Yhwgpwd 16-hg tplunwd E, np hupgdwt dwubwlhg niunighstbph wowlkpunubph
huwjuwpws vhohtt dhwynpubpp, wtjwpj wjt pwuhg, np hwyng (Eqyh b hwtpwhwoyh
niunighsubpp wnwppkp swhny B Jupbnpnud guuwpwbbbph jonmpyut gnpdnup,
hhdtwlwinud dnn &t hwdwwywwnwupwt wnwupuwih dhohtt dhwynpht: Uy gnpénth
wqptignipiniut wykh dwbpudwut gnyg L wnnwhu gphwugpud 17-n:

“Yhwgpud 17

Uhght Whunjnpbkpp pun pumunpubbbkph pnm pjmb gnpdnth
juphomjuém pyuh wnnh£wmbh

10
B_
[l e 6
6 8 3 sl X
l__-l-
E 2 ] o ]l R e B
RNl L-RR N E-Rl ]
T o
£ o 16-20 21-25 |26 hunfih
= = | e Sl |= :aa
&2 w | = L AL = |
§4 . Lo d - v d1
6
8

=
=]
Il

Qnpénh uptmpjmbm pymh unnhsmbp Cayhwimip
1 Ymphopmpymb sh npnd Uhoht Vpunjnpp
[ @my) jmphmp]oém o b
[ Uhghti juphmpjubmpmb e
0 phun juphopjwoémpymh

Yhwqpud 17-hg kpinwd E, np dhish 10 wowljbpnn niubgnn nuuwpuubpod b
huyng (kquhg, U hwipwhwoyhg nhunwplymd i wewybjuwbu pinhwinip dhoht
dvhwynphtt ghpwquugnn Jdhohtt dhwynputp: Upwlbpwnubph pdhtt dhghtt b juhuwn
Juplnpmpjnit vfny  hwipwhwodh niumghsubph 25-hg wykjh wowlkpun nikgnn
nuuwpwitbpnd  pughwunip  dhohtt  dhwynphg pwpdp dhohtt wpmyniupubp bEu
phunwplynd 5.6 b 5.2): Ujn nwunghsubpp npuwuwjuwinmd  Bu wowdbjuybu
puwghunwlwl, nmtnbtuwghnwlwt b bhghjudwptdwnhjulwut hnuptpnud, npnugnid
unynpnn wowlkpnmubph yunpuwunuénipyut dwjuppult wykh pupdp E put djniu
hnupbpnid:

Unwipljuyh nuuwduundut hwdwp pwpwpului hunnlugdus dudupwbulh htn
Juuyduwd ghinwplywus qgnpsnbbibph Juplnpmpyub suthi hknlkip pun hnupkph:

Zuyng jEqijh  niumghsutph phypnd  ptwghunwlwb, hmdwthwwp b
dhqhjudwptdunhjuljut hnupbpnid juuwwinnnubph wybjh pwb 46%-p hhuwn
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Jupbnpnud £ wopimwnwiiphg pujupupyuwsd hubnt gnpéntp: dbpohtiu s juplnp k
twl punhwunip hnuph niunighsutph 30.4%-h b manbuwghnwljut hnuph niunighsutph
59.6%-h hudwnp:

Ululwihpubph  gopéntp Jks  Jupbnpnippit mth phwghunwful,
ntnbuwghnuljutt b dhghjuwdwpbdunhljujutt  hnuptpnid hwyng  (Eqmu
nuuwywunnnutnh 44-47%-h, hnidwuhwnwp b punhwinip hnuptpnid nuwuwwunnnubtph
39%-h hwdwn:

dJwdwpwbwlh gnpéntup Jwplnp b wnbnbuwghnwljuwt hnupnid puuwjuwinnn
hwyng 1Eqyh nrunighsubtiph 98%-h, dhqhljudwpbdwnhjuljut hnuph pnjnp ntunighsutiph,
npunhwnip hnuph ntumighstiph 57%-h, hntdwtthnwp hnuph ntunighsutiph 42%-h hwdwnp:
FPuwmghwnwljutt hnuph niunighstubph 95%-p wyt phs L jupbnpnid, jud pinhwipuwybu sh
Junplnpnud:

Twuwpwutbph jpnnipjut gnpsénuhtt Uks uplnpnipinit E wnwhu phuughnujui b
hnidwhuthwp  hnuptpnid hwyng (kqnt nuwuwydwunnn niunmghsutph onipe  20%-p,
punphwinip b wbnbuwghnwlwt  hnupbpnd  puuwduunnnubph  9%-p,  hul
dPhahjudwptdwnhljuljut hnuph ntunighsutiph dh dwup phs E juptnpnid wyu gnpéntp,
Uh dwul By sh juplnpnud:

Zwhpwhwor/h niumghsutph phypnid woliwwnwiphg pujupupyus (hubn
gnpénup Ukdwwybu Juplnpnd b puwghunnwlut hnupnid nuuwwunnnutph 41.1%-p,
hnidwhwnwp, punhwtnip b $hghjudwpbdwnhljuljut hnupbpnid nuwuwuunnnubph
50-57%-n b mtnbuwghwnwljwu hnuph ntunighstiph 65%-n:

Uluyuhputph qopénup  Juplnpnd £ dhghjudwptdunhljuljutt  hnupnid
hwipwhwohy  nuwuwwiunnnubph 21.1%-n, hnidwthwnwp, punhwnip i1
nunbuwghnuwljut hnupbpmid nwuwywiunnnubph 63-66.2%-p b puwghwnwlwt hnuph
niunighsubtinh 71.1%-n:

dudwpwbwlh gnpdnuip o Juplnp £ ntnbuwghnwlwb hnupnid hwtpwhwohy
nuuwywinnn qgphpt pnnp nwunighsubph, $hqhjudwpbdwnhjuljut hnuph pnnp
niunighsubph, hnidwthwnwp, pughwinip b ptwghnwlwt hnuptph ntumghsutph 76.3-
89.3%-h hwdwnp:

Twuwpwutbph juonnipput gnpdnup UES Juplnpnipnit niuh ptwghunwlwub b
dhahjudwptdwnhljuljut hnupbpnid hwipwhwohy nuuwywiunnn pninp ntunighsukph,
nunbuwghnwljut hnuph niumghsutiph 82.4%-h, hnidwuhwnwp hnuph niumghstbph
78.6%-h i punhwunip hnuph ntunighsutiph 66.6%-h hwdwp:

Zkwnlitkny Jtpp pwpunpiusht uphkih t kgpujugity, np 3-py b 4-pry gnpsnubpp
own wykjh Jupbnp o dwptdwnhluwh, put hwng 1kqyh nrunighsubph hwdwp: Cuy
npnid, 3-pn qnpoénup pwwn Juplnp b dwpbdwnhlujh ntunighsubph dbé dwuh hwdwnp,
hulj hwyng 1Eqyh nrunighsubph nhypmid wytt jphun jupbnpynud £ ntinbkuwghnwljub b
Phahjudwptdwnhljuljutt  hnuptpnid  huyng (kgnt nwuwdwunnn qpkpt  pomnp
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niunighsubph, punphwinip b hnwdwtthvnwup hnuptipnud nuuwywunnnubph onipe 50%-h
Ynnuhg:

Twuwpwutbph  juunipjut gnpénup  juhuwnn Yuplnp £ ptwghnnufut b
dhahjudwptdwnhljuljut hnupbpnid hwipwhwohy nwuwywiunnn pninp ntunmighsukph,
htyywbu twl djniu hnupbpnid quuwywunnnubphg 66.6-82.4%-h hwdwp: Zuyng 1kqyh
niunighsubph pbhwypnid wnlnuubpp pwwn guwdp Ei: tw Jupny L puguunpdl] wyu
hwiquuwupny, np puuwpwtth wowlkpnukph phip 20-hg wytjht jhuknt npiwypnid huyng
1kqyh qpuuwdwdhtt puuwpwip pwdwiymd E 2 judph, b, pun Empjub, hwng (Eqyh
niunighsubiph nbwpnid 4-pnp gnpoéntp gplipk sh qgnpénud:

4.  Uh pwth hupgtiph wwwnwupuwtutph dhel nhnwpldus juuytpp:
Qutjuwwnbunid

Uju pwdinid wnwtidhtt winpunupd b junwpyl] wpwpluh nuuuuiundub
hwdwp npudunpdus b wtjuyny swpupwlwut dudwpwiwlht yepwpkpnn hupgkph
Uhol, wljujuynn dwdwpwwlh, ntunighsutiph wojpwmnwupwyhtt unwdh b hnuph dhol,
twpinpy nmwpju hwdbdwnnipjudp niudwt Jwjupnulh thnthnpnipjutp b twjunpy
wnwpnid - wlulwihpubph  wppwpugdwip  Jtpwpkpnn  hwpgbiph  dhol nhunwpldus
juwytpht:  Unwpluwh puuwuwindwi  hwdwp wpudwugpus  owpwpwlut
dudwpwiwlh htwn  Juupws Juunupll] b wowlbpnbbph  wnwewnhunippul
Yhdwlugpuljumb juwbjpunnkunid:

Uhdjutg juwtny ntunigsh woppwmnwuph wpynitwdbnnmpjut Jpu wqnnn 3-pn
qnpénih wwly udpunplws «Cwpmpulmi puip” puumdund Fonpudugmjoul 11-pn
puumpmbnid 2kp puuuwinuwé wruplugh niungdwips (hupgupbkpphlh 6-pn hwpg) b
dunjmgnyh  wpymibph  hwubkm  hundwp pugmghs pwhp”  puuwdunih
whhpudbonnipinih kp gqnid» (8-pn hwipg) hwupghiph wwunwupiwbubpp' unwgyl) b
htwnlbjw wuwnlbpp:

Uyt nhypmud, kpp numgsh hwpgupbpphlih 6-pn hupghtt («Cupwpwlwb puih’
nuuudwd L wnpudwnpyniud  11-pp puuwpwind QEp qpuuwduinus  wnwpljugh
niuniguwp»), huyng jEqi/h 220 niunighsutph 10.9%-p wwwnwupjuwib] £ 2, 9.1%-p" 3,
13.6%-n" 4, 12.7%-n" 5, 15%-n" 6, 15.9%-p" 7, 5.5%-p" 8 dwd b 17.3%-p npbk yuunwuiwh
sh k), huyng 1Eqyh wpunwphtt guwhwwndwt dhphtt dhwynphg pupdp dhohtt dhwynpukp
nhunwpldt] bt hwng jkqnit swpwpwlwit 3 b wdbh nuwuwdwdny nuwuwywinnn
niunighsubph wowlkpunubph Unwn: Uju ntunmighsubipp, npnup qununud G, np hwnljugdws
owpwpwlwt nuwuwdwdbph wykjugdwt wiuhpudbynnipnit shuw, juqunid G huyng
1Eqh nuumghsutph 61.4%-p, 10%-p ok k, np Yuw bu 1 dwdh wihpudhpnmpni, 18.2%-p
2,10.4%-p" 3-6 dwh:
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Uju nhypnud, tpp Jtpnhhojuy hwupght Awipwhwoyh 180 niunighsubph 2.8%-n
wunwupiwbly b 2, 29.4%-n° 3, 8.3%-p° 4, 12.8%-p" 5, 0.6 %-p' 6, 1.1%-p 7, 27.2%-p" 8,
5%-n 9 dud i 12.8%-p nplt wuwwnwupiwib sh k), hwhpwhwolh wpnwphtt gowhwindwi
dvhohtt dhwynphti ghpwquignny dhohtt Jhwynptbp Gu hwdwpl] wpwdbjuybu
hwipwhwohyp 2wpwpwlwt 5 b wilkh npwuwdwdny nwuwdwunnn b jpugnighs
nuuwdwidh wihpuwdbynnipni smbkuting niumighsubph wowlbpunbpp: Zwupwhwolgh
wjt nrunmighsubipp, nyptp quunid kh, np hwnljugJws nuuwdwudbph wibjugdub
wuhpwdtonmpnit sjuw, Juqund bt hwpgws nrunighsubph 62.8%-p: Zupgwsutph
0.6%-n uok) k, np gmijuyh k bu 1 dudnyd wdbjugnidp, 26.7%-n" 2, 6.1%-n" 3 b 3.8%-n" 4
Jud 5 dwuny: Lpwgnighs nuwuwdwdbph wbhpwdbonnipnit wbutnng niunighsubph
wpwltpnubph dhohtt dhwynpubpp hhdttwljwinid gwoén Eu punhwunip dhohtt dhwynphg
(4.1-hg): Uju ntunmighsiiphg dhwyju 3.3%-h wpwlkpnubph G pinhwinip dhohtt thwynnphg
pupdp dhohtt vhwynpubp hwjwpky), pun npoud, tpwbwluwh pwpdp £ upughg 2.2%-h
wowltpnutnph  dhohtt  dhwiynpp (hnudwthwnwp,  dpghjudwptdunhljujui b
nunbuwghwnwljut hnupkp):

Thwgpud 18-mud ubpyuyugqus E hwyng (Ekqyh b hwipwhwoyh ntunighsubph phip
punn owpwpwluwt hwnjugws b wlujuyny jpwugnighs dudwpwbtwlh: Minnudhg
nuuwynpjws  jnipuwpwiynip  dwdwpwbwlh hwdwp gnyubpny gnyg b wpdus
wljujuyynn jpwugnighs dwdwpwbwlp: Snmipwpwbsnip gnyuh Jpw ubpluyugdus k
wljujudny njjuy; dwdwpwbwlp tywsd nrunighsubph phyp: Ophtwl, swpwpwluu 3
npuuwduwuny  hwbpwhwhy npuwuwwbnnny numghsitiphg 7-p  hwnljugdws
dudwpwbwlp pudupwp £ hwdwpnid b npuw wybjugnd sh wtunud, 32-p uoky k, np
wljuuynid £ 2 dudnyd wybpugmd, 10-p° 3 dwdnd, 4-p 4 b wndbjh dwdng:

“Thwugpud 18
Nuunighshibph phijp pun swpmEEmh hunlugdus b

wluljupjnn jpugmghs dunfupuinaljh
E Zung Thqm Zmbpmhmzhy
= [3] 21 2 |3]z2]
§ s s - [ = T
é« [E20RE| 24 2 s [ & [ll:
-E [a ] 23 s 23
-E [E3E) 9 [ 5] 16 s |

2l s | 10 | 8 | o 7 [1

s s 8 47 2]
: o -
N 20 2 10 o o 10 N 20 i s

Niunighsbkph phin Niumghsblph phdp

Whhluyjnn jpumgn ghy dufupuinalip (dunt)
00010233 M4 bhudkh

“Yhwgpuwunid hunwly Eplinwd E, np niunighsubph dbé dwup jpugnighs nuuuwdwdh
Juphp smith: ‘Lpwtghg wnwybl] wsph bu puljunid swpwpwlui 5, 8 b 9 dudny
hwipwhuwohy nuuwduinnnibpp  (hwdwywunwupwbupup 23 (hwipuwhwoyh
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niunighsubph 12.8%-p), 47 (26.1%) L 9 (5%) niunighs): Twpwpwlwb 3 dudny
hwipwhwohy nuwuwywinnn 32 niunighs (hwtpwhwoyh niunighsutph 17.8%-n) &hown L
hudwpnid swpwpuwjut dudwpwtwlp bu 2 dudny wytjugub)p:

TYhwgpud 19-mud ubpyuyugdus Et hwyng (kqyh b hwiupwhwolyh wpunwpht
quwhuwwnnidhg wowlbkpnubph hwjwpws dhohtt dhwynpubpp punn  hwnlugdwus
owpwpwlul b wiijwdny jpugnighs dudwpwiwlh: Znphgnuwlwt swppny wnpdus k
huwnijugws dudwpwtwlp, nph hwdwp gnibwynp wniubpnd wpws L wnduyg
dudwpwbwlny puuwuunnnutph whfuiws jpugnighy dudwpwbwmlp: Snitpwpwynip
yuwb Ypw ubpuyugws b wlhuunn wndju] dudwpwbwlp tyws nrunighsubph
wowjipnutpnh hwjupwé dhoht Uhwynpp:

“Thwugpud 19

Uhght dhunjnpltpp pun pwpupuljuh hunaljugius b wijbljupinn jpugnighy dunfupuinah

L]

10 - = = a
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Wampjnn dunforpomimlyp (dond) Upunuphh ginihunmimb whehh Uhunfnpp
00010203 M4 hulkh Zujng 1kgnt -Zmbpuihmzn]

Yhwgpud 20-nud tkpuyugyws E ntunighsubph phyp pun hnupkph b wjujudnn
1pwugnighs dwdwpwbwljh: dhpohtiu tkpuyugdwsé k gnyutpny, npntighg jnipupwiisniph
Upw tpws Eniunighsubiph phyp:

“Yhwgpud 20

Mum ghsbkph phjp pun hnupbph b whblupdon jpugmghy dunfupminoh

PR— i[12 ] Seowe [ 14 8 et in]
1 H 44 Stunbumghumljmt 33 1
39 Fhmghunmbmb 47 |3|

o
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g

r T T T T
100 80 &0 40 20 o

Uhlyurjon pugn ghs dunfupminnlp (dunl)
00 O1 O2 @3 E4hulkh
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“Yhwgpud 20-hg Epind E, np owpwpwlut dudwpwtwlh wybjugnid wljuljunn
qpbipk pnnp nuumghsubkpp (158p hupgwstbph 39.5%-p) kplnt wnwpluygh phupnd b
nuuujuwinmd ki hnudwihnwp hnupmd, b tpwubg Ubs dwup (74-p wyn hnupnid
nuuwywinnnubph 46.8%-p) qununiud k, np jwjugnyt wpynitiph hwutbnt hwdwp wyhwnp
E wybjugub) bu 2 dwd:

Yhwgpud 21-md - tkpuyugwus Eu dhohtt dhwynpubkpp puwn hnuptph U
wljujuyynn ;pugnighs dudwpwwlh:

“hwugpud 21
Uhght dpunjnpikpp puin hnuptph b wjiupng jpugnghy dunfupublh
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1 Zmbpuhmppy
Uljtalyuapinn pmgn: ghs dunfupuwinalp (dunf) Upunmpht gianhunnfui Wheht Whudnpp pun hauptph

oo O1 02 @3 E4bu]kh s .o Zunng | Egqm «oome s Zmbpoban pa]
Upinmpht qimhunnimb pimhwtmip Uheht Uhaninpp

— — Zuyngikqou — — Zmbpwmbuzia]

Yhwgpud 21-hg Epmd E, np whlwpe wltupyng  dwdwpwiwljhg  dhuyh
hnidwhunhwp hnupnid E, np hwupwhwoyh dhohtt dhwynptpp puawn gusdp Eu punhwunip
Uhght vhuynphg:

Jhdwhwgpulmb Jublnunkunid: Cupupulub dwdwpubwlh htn Juydws
Juunwpyl] E wnwownhunipjwt Jhdwiugpulwi Juwbjpunnkunid, pun nph, pnnp
hnupbpnid hupgqws ntunighsubph tows wnlw huyng jkqih rupupuljut nwuwdwudbpp
1 dudny wybjugutint phwypnid wpunwphtt quuwhwwndwt dhghtt dhwynpp qpbpk sh
thnpugh: Zhokup, np huyng 1kqyh ntumghsutinh 61.4%-p (wjwgnyt wpnyniuph hwutbnt
hudwp jpugnighs nuuwdwdh wykjugdwt wmuhpudbsnnipnit sh whkutnud, wyuhtpt wyn
niunighsubphtt puwjwpwpnid £ hwnjugus dudwpwbwlyp: Upnwphtt guuhwwnnidhg
wynp niunighsuiph wowlkpnutph hwjwpws dhohtt dhwynpp hwjwuwp b pughwunip
dhphtht  (6.6): Cuwnn Juwbpwwnbudwb, Gtpk unybhull popp hwpgdwsubpht
htwpwynpmpmtt wpdh hwng (kgnitt puuwjwinbnt  hpktg hull wlufuiws
owpwpwlut dudwpwbtwlny, dbmgud wuwydwiuubpp pnnubing withnthnpy, wpunwpht
quuhwndwip dwubwljgus tpuig wowlkpnutph wdpnne hwdwljwuquh dvhohtt Uhwynpp
Juybjwbu whpwt swthny: Gnthnjunipjniut wykih tjuwntih fihth dhuwyh hnidwthwnwp,
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puwghinwlwt b punhwtnip hnuptpnud, npnug wpwlbkpwnubph wpnwphtt qguuhwndwb
Jutpwntujws vhohtt thwynpp twhijhtthg pupdn Yihth 0.3-n4:_

Yhdwmlmgpuljml Juwbfuunnkunidp gnyg b muuhu, np Ept dwpbdwnhluyh ponp
hwupgqwé niunighsubphtt htwpwynpnipinit mpyh hwipwhwohyp nuuwuunknt hpkug
wljujuws rwpwpwlut dudwpwbwlny, wmyw ptwghnwliwut hnupnid hwipwhwoyh
wpunuphtt gtwhundwl dhohtt dhwynpp Jun]bjubw 0.3-n, hnidwihnwp hnupnd 0.2-
ny, piphwinip hnupnid' 0.4-n1: buly pnynp hnuppmd wnlw Awipuhwoyh yupupwlui
nuuwdwdbpp l-wjut dudnd wdbjugubnt nphypnid jpupdpubw Jhuwytt hnidwhunwp
hnuph wowlbpunutph dhohtt dhwynpp (0.6-ny): Zbkwbwpwp, pwth np (pugnighs
nuuwdwdh wybjugdwt wihpwdbynnipnit i mbuinmd wpwybjuybu hndwihwnwp
hnupnid hwiupwhwohy nuuwdwunnn ntunighsubpp, b jujpwwnbunidu b gnyg £ wnwhu,
np dudwpwbwlp bu 1 dudny wydbjumgutip Ypwupbjugh wyn hnupmd unynpnnubph
wnwownhumpniip, nwunh  bipunpynd L np Jupkh B htwpwynpnipjub
vwhdwbtbpnid  ju’'d  wdbjugul] wjyn  hnuphtt  hwnjugquws dwpbdwwnhljugh
owpwpwlwlt dwdwpwbwlp, Yw'd pEkptwpuwtht] hnidwbhwnwp  hnuph  hwdwp
twhiwnbujus «Zwtpwhwohy» wnwpluyh dSpughpn:

kKK kkk kekk

Thuwplbup jujugnyt wpyniiph hwutbint hwdwp  jpugnighs pwuwdunih
whhpudbounnipinib sinkubng niunighsbbkph Jwbjuupdwliub uvinwdn:

Uwtuljujupduljutt vnwdh  Jhpwpbpu; Jhdwljugpujuit wndjujubpp
ubpjuyugus bt wnpnruwly 13-nud: Mumghsutiph ninnup hwydupyws kE jpugnighs
nuuwdwd syywhwbgnnutph punhwtnip pyhg (248-hg), hulj huyng (kqyh b hwupwhwoih
niumghsbphiip wnwdh ndjuy edpnud jpugnighs nuiuwdwd swywhwiennubph pihg:

Unniuwy 13. dudwpwbwljh wykjugdwt uphp sniukgnn
niunighsutiph mnljnup pun dwijujupdului uvinwdh

Uwijuwjupdului Pnnp Zuyng 1kquh | Zwmbpwhwph
uwnwdp (nwph) hwpgwsubpp | niumghsukp | niumghsubp
0-5 22.2 61.8 38.2
6-10 7.3 50.0 50.0
11-15 8.9 72.7 27.3
16-20 13.7 50.0 50.0
21-25 12.9 40.6 59.4
26-30 16.5 58.5 415
31-35 8.5 52.4 47.6
36-40 7.3 44 .4 55.6
41 b unfbh 2.8 4209 57.1
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Zupgws 400 niunighsubph 62%-p (wjwgnyu wpmniuph hwubbnt hwdwp
1pwugnighs nwuwdwiuh wthpwdbonnipinit sh mkutnud: Lputg ke UksS phy Eu juqunid
Uphlist 5 b 26-30 nwupdu dwblju]upduljui vnwd nikgnny munighsibpp hwyng 1kqh
niunighsubph wnwybnipjudp:

Lpwgnighs nuuwdwd sywhwbonnubnh 34.3%-p puuwydwuinmd k phwghunwlub
hnupnud, 31%-p winbuwghnwluimd: Puiwghinwlui hnupmd yuuw]wbnnnubph
45.9%-n huyng 1kqh niumghsubp ki, 54.1%-p hwipuwhwoyh, ninbuwghnwljwmb hnupnud
hudwyunwupwbwpwup 57.1%-np b 42.8%-p:

Uhtst 5 nmupju dwtjudupduljut uvnwd mutgnn hugng jEqih niunighsutinhg
ownkpp (pugh Upwgquénunth b Ywyng dnph dwpqtphg, npnug niunighsutph uwnwdnp 10
wnwpnig wykh k), psywbu twb Lnpni, Upwquénwnuh, Updwihph, SQbnuppniuhph,
Uniuhph b Swyniph dwpqbph 26-30 mupdw unwd niubgnn niunighsubph dbé dwup
hudwpnid G, np hunjugduws rwpupuljut dudwpwbwlp pwdupup b jujugnyu
wpyniuph hwutbint hwdwp: Ujn Jupshphtt Eu twl Gplwth niumghsuitiphg swnkpp,
Chpwlh dwpgh 11-25 b 31-40 vnwph unnwd nitkgnn, Lopnt dwpgh 21-30, Upwquénwnuh
11-15 b 26-30, Uniuhph 11-15, 21-30 b 36-40, Upwpwwnh 16-20 b 31-35, Snuppniuhph 36-
40, Unpdwyhpph b Ynwuwyph 11-15, Swyniph 16-20, 26-30 L 36-40 vnwpjw uwnnwdny pnjnp
niunighsubpp:

Uhtst 5 nmupdu dwijujupdwujut winwd niutgnn Awipwhuipyh niunighsutiph
(pugh Upwgquénunth, Upwpwwnh b Swynioh dwpqtphg, npnug ntunighsutph unwdp 5
wnwpnig wykh k), hswtu twlk Thpwlh, Lopnt, Upwquénunth, Upwpwwnh, Updwihph,
Unwnwyph, Upntuhph, 9wng dnph b Swyniph dwpqbph b Gplwth 21-25 nmwpdu uwnwd
niukgnn nwunighsubph kS dwup hwdwpmd G, np hwnlugdus swpupwlub
dudwpwbwlp pujwpup L jwdugnyt wpyniuph hwutbine hwdwp: Ujpgutu Bu jupdnid
twl Gphwith 6-20 b 31-35 wnwuph wnwd niukgnn, Chpwlh dwpgh 26-35, Upwquénwnuh 16-
20 b 31-35, Upwpwwnh 6-10, Updwyhph 16-20 b 26-30 Lnnnt dwpgh 16-20 L 36-40,
Ujniuhph 16-25, Qtnuppniuhph 36-hg wytih, YUnwnuwyph 21-25, Swyniph 11-20 b 41-hg
wyth mupyw unnwd niukgnn pninp hupgdusutpp:

Thuwplbup twlh jpugnighys 2 pwuwdwdh whbpwdkonnipinit  wnkubng
mumghsibph dwmblunjupduljul uunudp:

Zuyng 1hgm nuuwjwunnnubtphg jpugnighs 2 dwudh Juphp niith hhdbwlwind
dhtslh 5 mwpyw, 16-20 nwpju b 26-35 nupju dwiljwjupdujutt uinwd nitkgnn
niunighsubph Uh dwup: Zhg mupjuw uwnnwd niubkgnn niumighsubpp Chpwlyh, Uniuhph,
Qtnuppnithph dwpqbphg U Gplwihg Lb, 16-20 nmupjuip Upwquésninth, Umniihph,
duyng dnph  dwpgkphg b Gplwihg, 26-35 wwpjuip  Chpwlh, Upwquénnih,
QLnuppniuhph, Updwdpph, Swynioh dwpqbphg b Gplwthg: Lpwgnighs 2 npuuwdwdh
Juphp nith twb 6-15, 21-25 b 41 wwpnig wybh dwtjuwjupduljut uvnwd niukgnn
Eplwtigh ntumighsubph, pywbu twb duwyng dnph dwpgp 11-15, Unwnwyph dupgh 21-25 b
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Upwquénintth  dwpqh 36-40 wwpjuw uwwnwd nmbbkgnnubph dh  dwup:  Thpulh,
Upwqudénunnth, Swynioh b Ynwmwyph dwpqtphg hwyng (Eqyh jwjwgnyt wpynituph
hwutbnt hwdwp jpugnighy qpuuwdwd wluunn niunighsubpp 2-hg wybjh dwdny
wybjugdwt wthpwdbynnipnit skt inbutinud:

Zwhpwhuphy] nwuwuunnn ntunighsubphg jpugnighs 2 dwdh Yunphp nith dhigh 5
nwpyju (Gplwt b YUnwnwyph dwpg), 16-20 nupdw (Chpwljh b YUnwnwjph dwpgtp) b 21-25
nwpju (Chpwlh b Upwquénnuh dwupqtp) dwujudupduljut uvnnwd nibitgnnubph dh
dwup: Lnpni, Upniuhph, Upwpwwnh, @Enuppniuhph, Updwydhph, Swynioh b duwyng dnph
dwupqtphg  hwtpwhwydh  puuwdwindwt  hwdwp  jpugnighy  nuwuwdwdh
whpwdbonnipinit mkutnn ntunighsubpt wjujuynud tu bu Eptp jud wybkih dwd: Lnnnt
dwpgh wyy nunighsubp mukl dhish 10 b 26-30 wwwpduw, Umnithphip 31 b wdbgh,
Upwpuwnhip bt Swyniphtip’ 21-30, Qtnuppniuhphtip’ dhbisk 5 b 21-30, Updu]hphip
Uhtish 5 b 21-25, Guyng dnphiip 16-20 nupdu dwblu]upduljwi uinwd:

kkk kkk KKk

Zhnliktp hupgupbpphih 7-pp («Lwfunpy wwpgu hudbdunngppudp hisgku F
thnpnjly 11-pnp puwuwpwinid unynpnnbkph nudwé dwlwpgulp), 9-2-py (Ippwin Y kp
hudwdpwn «Upjuwnnubpp hkwnwppphp F U wnwpwpbnyp» dwph hkwy) b 10-pg («Uju
wwpifw 11-pn puumpuminid unynpngikpp Gwfunpy nunifmlwd wwpnod wppupugpk 7
kb 2kp wlhlpuypplkppy) hupghph dhol nhuwnlynn Juubpht: Zhpkup, np wyu hwpgkpp
hudpwynpyty b punipugpnid Eu ntunigsh wpjowwnwph wpynibwybnnipjut ypu wgqnnn
2-pn gnpénup:

Zuyng 1Eqi/h wjt niunighsubpp, npnup hwdwpnid bu, np twjunpp nwpu
huwdbdwunmpudp pudulwtht  pwpbwddt; E  hpkug nuwuwduwiunués 11-pn
nuuwpwitbph nmudwt dwuwppulip b hwdwpmd  Bu, np hpkug  wpliwwnwtpp
htwwwppphp £ b wmwpwplnyp, 10-pp hwupgh wwunwupwbtbphg pbwnpl] Bu dhugh
«pdbujuinid wppupugpl) b b «Uwuwdp Eu wppupugptp yunwupwbbpp: Zugng
1Ekqyh wpuwphtt qguwhwwnnidhg wju nwumghsubph wowlbkpnutphg «<hhduwlwunid
wpnupugpuwsubtph» hwjuwpws dhohtt dhwynpp 0.4-ny ghpuquugnid L pughwinip
dhohthti, hull «dwuwdp wpnwpugpwsubphup» 0.1-nd qhonid Lk «Rhs L pupbjudybyp»
yuunwupwiub ptwnpws ntunghsutph 74%-p hwdwpnud E, np bwjunpny niuniduwjut
wnwpnid wowlkpnubpp skt jupnnugl] wpnupwgub)] hptug wuluwhputpp: Cung npnd,
wyn niunighsubph ghipwlohr dwup hwdwpnud E, np woppwwnwipp dhwbquduyt jud
dwuwdp E hbwnwppphp b mwpwptnyp: Uhtsnbn wyn ntunighsubph wowlkpunutph dhoht
dhwynpp 0.5-ny gwoép Lk punhwimip dhohtthg: Lwpnppy nmiumdbwlwt  wwupju
huwdbdwunmpudp nmudwt  dwuwppulih  tnthnjnipnit stjunws  gplpk ponp
niunighsubpp, npnup hwdwpnid i, np hbnwppphp b nupwptnype k, bk b, np btwpunpn
niuntdbwlut tnwpnid 2015-16 ntundbwljut mupdu 11-pn puuwpwbtbpnid unynpnn
wowtpnubpp dwuwdp o wpngupwugpt) hptug wityuihpubpp: Zung 1Ekqyh wpuwpht
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quuhwwnnidhg wyny ntunmighsttiph wowlbpnubpp hwjupk] Gu punhwtnip dhehthg 0.2-
0.3-ny gwsdp dhohtt vhwynpubp: Mudwt dwjupnpulh tugnid tjunws ntunighsubpp,
nyplp dbkdwdwuwdp hwdwdhwn Eu, np wohmmwnwbpp htwwppphp b nwpwpunype L,
hwdwpnud &b, np twjnpy nmumdbwlwt wupnd - wowlbpnubpp dwuwdp B
wpnupwgpk] hpktg wluyuihputpp: Uy nwunighsubph  wpowlbpunubpp  tnybwbu
wnpunwphtt guwhwwnnidhg hwdwpt) tu punhwunip vhohhg gudp dhehtt thwynn:

Zwapwhwor/h ntunighsubph nypnid unyuwybu 7-pr, 10-py hwipgtph b 9-p hwpgh
2-py Eipwhwpgh wwwnwupwttph dhol nhnwplynud tu dnnnwynpuybu tnytu jupgh
Juwtp, hus np hwyng (Eqyh ntunighsubph nEwypnud, vwluwyu vhohtt Uhwynpubph wnpnidny
Jw npnowlh wwppbpnipnit: 7-pn hwpgh «Pudujuuhtt pupbjuddt; b b «Rhs L
pupbjuyybp yunwupwtbh punpws ntunighsubipp hwdwpnud B, np wpjownwbipp wyu
Jud wyu swthny htwnwppphp b mwpwpbnype £ b bol) &b, np wowlbpnutpp twpnpn
niunidbwjutt nupnid dwuwdp B wpnupwugpt) ppktg wjuuihputpp (hwpgdusubph
56%-n): Pbptug wowltpunutph uUhohtt wpmynitpubph wpnidny tpwip quiynd btu
punhwinip dhohthtt hwjwuwp jud pwpdp nhppnid: 10-pn hwpghtt wwnwuppwbws b
twpunpy nuuntdbwjuwt mwpju hwdkdwnnipjudp ntudwt dwjupnulh thhnthnjunipnit
sutjunnus nrunighsutiph (hwupgdwsutph 19%-p) wowlbkpunutph dhohtt wpyniupubpp
gudn Lu punhwunip dhohtt dhwynphg: b nbw, wyn niunighsutph 74%-u puwnpk) £ 10-py
hwupgh «Uwuwdp B wppupugptp qunwupuwn:

Udthnthnd

2015-2016 nrunidtwlwut nupju wpwghtt jhumdjulnid hwipulppujut wjwug
nupngh  dpwgpkp ppwljwbtwgunn nundbwfut | hwunwunnipmibiubiph 11-pn
nuuwpwbbpnid puuwjuwinnn ntunighstiiph wouwwnwuph wpynibwdinmput b ppw
ypw wqnnn gonpénuubph niumdbwuhpnipjutl byuwwnwlny whghugws hwpgdwip
dwutiwlgl) £ hwipulppujut 57 niumdtwlut hwunwunnmpmnitttpnid hwyng 1Eqnt
npuuwywinnny 220 b 53 hwuwnwunnipmibubpnid hwbpwhwohy puuwdwunnn 180
niunighy: Zuyng 1kqdh nuunighsubph puuwuinws 11-pp  nwuwpwbbbpnud  wyy
wnwpluyh wpuwphtt quwhwwndwip dwubwlgh] £ 3239 wowlbpwn, hwupwhwolh
nkupnid’ 3062-p:

Zupgwstutph  ghpwlohr dEdwdwutnipniip nuwuwjwinmd b punupught
hwipwlippwlwt nunidbwlwt hwunwwnnipmpnibbbpnd (hhpdbwjuind wjwg
nupngutph, htyybku twb Jupdwpwbtbph ptwghnwlwb, hnidwihwnwp, punhwinip,
nuntuwghnuljut b bhghjudwptdwunhjuljut hnuptpnid):

Zuyng 1kqyh wpuwphtt quwhwndwt pughwinip dhohtt dhwnpp tnkp E 6.6,
Ukppht ghwhwundwh dhghlip' 6.8, hwlipuhwoyhtip, hwdwwyunuwupubwpup 4.1 b 6.5:
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Zung 1kqyh b hwbpwhwodh wpuwphtt quwhwndwt pughwinip  dhohtt
Uvhwynpubtphg pwpdp dheohtt wpnynitpubpny 22 Jupsuunwpwspwihtt vhwynpubph
hwipwlippwjut ntuntdtwljut hwunwwnnipniiubphg wsph tu pujunid Gphwinid b
Chpuwlh dwpgnid gnpénnibpp, numdbulwi  hwuonwnnipoiiibph  nkuwlibphg
Jupdwpuiibpp, hnupkphg $hqhjudupbiwnhljulut b ninbuwghnwlwb hnupbpp:

Niunigsh hwpguptpphlyh gnpéntiwyhtt yipnidnipiniihg Yupkih £ 2 hknbnipmniu
wihy

1) hwtpwhwoyh nuwuwdwundwtt  hwdwp wpwdungpus owpwpwlu

dudwpwbwljh wibjugdutt wthwpwdbonnippit ju  hwbpuppulju
niuntdbwljut hwunwwnnipniutiph hntdwithwnwp hnupnid,

2) nuwuwpwubbph dké funnmpmnitup junspunnunnid t hwbpwhwoyh wpynibwgtn

nuuwywbnduipn:

Zupgdwb wpnyniupubpp hwjuwuwnnud By, np 11-pn guuwpwiunid hwyng (kqyph b
hwipwhwoyh npwuwduwiundwtt hwdwp punn hnuptph npuwdwnpdus swpwpwlju
duwdwpwhwlp pun hwupgdwip dwubwlgus nwunighsutph Uks dwuh hhdtwljutnd
puduwpupnid £ qnuuwduwiungdut gnpépupwught: Lpuighg bhqhjudwptduwnphljujut b
punhwinip hnupbpnid hwyng (kqnt b hwtipwhwohy puuwydwunnnubph, ptughnwlwt b
nunbuwghnwljut  hnupbph hwiupwhwsdh b hmdwbhwnwp hnuph hwyng (Eqyh
niunighsubph  wowltpunutph dhohtt  dhwynpubkpp gbhpwquugnid  Eu  wpunwpht
quuhwndwt hudwywnwuiwb punhwunip vhohtt dhwynpht:

Lwtth np  hwpgdwt  dwubtwlhgubphg jpugnighs puuwdwd  wluljunn
niunighsubpp hhdtwljwiunid hnidwtthnnwp hnupnid hwtipwhwohy nuwuwywunnnubpb o,
hulj hwtpwhwoyh wpwnwphtt guwhwwnnidhg iputg wowlipinutph vhohtt wpyniuputipt
wlkumgwépt b, husybu twlb hnidwthnwp hnupmid hwipwhwoyh guuujuindut
huwdwp owpwpwut hwnjugjus dudwpwiwlh 1 npwuwdwdny wykjugnudp
nbuwluwiunpbt jwiuppwwnbunid £ dhohtt dhwynph pwpdpugnid (0.6 dhwynpny), puwn
wypd wowewplynd t dhuyh hnudwbhunwp hnupmd bl puuwdwin] u]bpughky
hwipwhwoyh npuuwjwindwt hwdwp hwnljugynn swpupwljut puuwdudbph phyp
Jwd phinttwpwtht) wyny hnuph hwdwp twhwnbtugws wpwupugh Spughpp:

Twuwpuwbbbph  ppnnippub qopdnup  juhunn uplnpnud Bt hwbpwhwoygh
niunighsubipp, hwwnljuybu hnidwuhwnwp hnupmd nuuwywinnnubpp: dEpnwsnipniup
hwjwuwnnid k, np hnidwtthinwp hnuph 20-hg wykjh wowltpn niitgnn puuwpwbtbpnid
unynpnnibph Uhohtt wpymibptkptt wikbwguspt ku: Cun wynd” wowewplynid t thnpdky
dwpbdwnhluh nuwuwdwdbphtt guuwpwinmd 20-hg wybkjh  wowlbpnn  niubkbwgne
ntypnid bpwug pudwib] 2 judph, htnlbl] bpubg wnwewnhunipjuup b juy wpyniuph
ntypnid Jhpwnbk] hwupulppwljut pninp ntuntdbwjutt hwunwwnnipniubbpnud: Npubu
hhdtwynpnid Juwpkh £ pugmul] wy, np pklh 22 Jupswwnwupuspwhtt Jhwynpubph
Yupdwsédpny nphunwplnidp gnyg k nnwhu, np Gphwbnud b Chpulh dwpgnid gphnnupdus
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nuuwpwbubpnd  wowlbkpnubph phyp qpbpt sh wgpnud wpwownhunipyuit Jpuw,
wjuntwdbuwgthy, djntu dwpgbpnid hwyng 1Eqyh b hwipwhwoyh wpunwpht gobwhwndw

punhwunip dhohtt dhwynpubtphtt qhipwquiugnn dhohtt dhwynpubtp phunwplynud tu
wnwybjuy bu dhtsh 20 wpwljipun niikgnn nwuwpwutbpnud:

Ogquwugnpéjwd wnpniputp

1. 2015 p. hnlubdpkphg uJhtgh phiunbdpip wdhubbpt pujws  dudwbwjwhundusnd 22
hwipuwljppuut ntundtwluwt hwunmwunnipnitubph 11-py guuwpwbibpnd huyng (kqne b
hwipwhwohy nuwuwqwbnnn niumghsubph opowtmd whghugqus hwpgdwb  EEjupnbught
wnjuutiph puquikp:

2. ‘unyt dudwtujuhwndusnid b tinytu ntuntdbwjut hwunwwnnipniuubph 11-pn puuwputubpnid
hwyng 1kqyhg U hwipwhwoyhg wigjugws wpunwpht quuhwndwt LEjunpntughtt ndjuukph
puquibp:
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ZubpJws

Mumgsh hwpguptpphl

1.

Qtp dwpgp, nupngp:

2. Qbp nuuwywunué wnwpljui:

Uwnnpl mpjwé wnniuuynud gpty 11-pn puuwpuinud Qbp puuuduiinus’
w) nuuwpuwip,
p) hnupp,
q) wpwltipunbph phyp:

Qtp ubknp:

Uwtjuwjupduljut utnnudnp:

. Cwpwpwlul pwih’ nuuwdwd b owpudwngpimd 11-py quuwpuimd - 2bp

nuuujuinus  wnwpluyh  nunigdwtp  (mwppip hnupbpnud quuwdutnbine
wuwpwquynid uok) jnipupwiisjnip hnuph nwuwdwdtph putwlp):

Lwjunpy wupju  hwdbdunmpjudp  hiswku £ ol 11-pg  quuupubnd
unynpnnubph ntudwt dwjupnulp:

Uju hwipgh htwpwynp yuwwnwupwbubpt ko’
e pujuiwuhl pupbjuyt k
* phy E pupbjun]yty,
e shinfugty,
e Ujwqh) L

Lwugnyl wpyniiph hwubikynt hudwp jpugnighs puith” nuuwdunth
wthpwdbownnipinit tp qgnid:

Nppwin Y kp hwiwidhwn wnnpl togws dinplph htan:

Uplwunwjupdp pujupun k:

Ushuwmwnwupp hbwnwppphp kb nwpupinype:

Unynpnnubtph b $unnutph htnn hwpwpbpnipinibubpp quy G
Typngp pujuwpupnid L unynpnnubph b btpwbg sunnubph
Uppuljut wwhwbeutpp:

Ll e

Uju hwipgh httwpwynp wuwnwupwtbpt o
¢ Uhwhquuujt hwdwdhwn b,
¢ gphptk hwdwdhwn b,
e oww phy bl hwdwuhuwn,
e pnnpnyphb hwdwdhwn skd:

Qtwhwndwt b phunuynpdut Eunpnh
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10. Uju wnmwupdw 11-pp guwuwpwinid unynpnnubpp twjunpy niumdbwlwt wwpnid
wprupugnt | ki 2p wlhiljwhpibpp:

Uju hwipgh htwpwynp wuwwnwupiwmtkpt o
e Zhdtwluwunid wpnupugpl Eu:
e Uwuwdp kb wppupugpt:
e Ll Jupnnugh] wppupugib:
e TdJuwpuwinud B yunwupiwby:

Qtwhwndwt b phunuynpdut Eunpnh
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